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+ verb + s/es He plays tennis.
- do/does not + verb She doesn’t play tennis
? Do/Does + ... + verb Do you play tennis?

Slas e 6,8 oo )18 eolal 590 ool Jl loy yo in 4 olaald -

always, generally, normally, usually, often, sometimes, rarely, never, traditionally, every day,
every week, two times a month, ...

(g o0 oLl 13 35190 40 colw Jlo o 5l

g oo plol jeins g Aliad g dliued pols ey 4 dgase a5 ol IS 5l oo -

My parents live in Canada.
I don’t like your house.

(oo lacasly 5 Bli> Lo e -

If you heat water to 100 °C, it boils.

Ngd o S5 a8 ola)ls g olle wilyy, slaeuls ;| cums -
I get up really early and practice for an hour most days.

Paula doesn't usually have breakfast.
We play tennis twice a week.

cadas J'.’.L“’ﬁ “5)" 6.,\;_3QLA)' o)l.g);) Cosno -
What time does the next bus leave?
The next bus leaves at 8.

Sz doallygios Olo g oo eyol gl -
You go down to the traffic lights, then you turn left.

To start the programme, first you click on the icon on the desktop.

LS 5 okd 950 )0 Cummo 5 185 luls 6l -

In the film, she is fond of the Prime Minister.
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I hope carol calls tonight.

S| yosinn! >
+ am/is/are + verb (ing) He’s watching TV.
- am/is/are not + verb (ing) I’m not watching TV.
? Am/Is/Are + ... + verb (ing) Are they watching TV?

5laasle gl oo oolaiwl (g el Jlo fley o pin aS Slaad -
at the moment, currently, now, this week/month/year, ...

109 o0 ol (30,5 o0 7 o wlol Ho a5 50,lg0 O (5l el S o) 3l

(NOW) el o0z plas joim g puwiamds ] plosil Jl> jo alasd cpuan j0 a5 Joe olo -
I’m waiting for my friend now. (now)
I’m baking a cake. (now)

ool bl po b ain ol 55 el 45 Jloel o s Siirad 5 i ] all Sl o Lge a5 Las o)l -
(@round NOW) . st 5 o7 b Jgiion S abasd o logy) Jg pud oo

I’m studying really hard for my exams. (around now)

He is living in Tehran at the moment. (around now)

(055 on 5035 LT ol o 4o a5 035 goi (S35 0ot 5o SIS y5b )

s Gl 0 S (SYeS g et ol -
The population in the world is rising very fast.
The Internet is making it easier for people to stay in touch with each other.
My English is getting better day by day.

RE RPN hd sla )3 5l Como -
What are you doing on Sunday?
I’m going to the movies with Sara.

Sl el o el J 5l ooliul JSii ol a5 cils axgi Wb s o 3, HUanl a5l i a5 SBL! Lo sl -
always, constantly, continually, LS b Ygess 5 59,00 515 4 033,5 ol 5 colsi b wols opols s

D9 o0 ol e fOTEVES
My mum’s always saying | don’t help enough! colss

He’s always visiting exciting places! «sl>
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Jobs >
(5 oob) oolw Jols Jlo 5>
+ have/has + past participle She’s written a book.
- have/has not + past participle | haven’t written a book.
? Have/Has + ... + past participle? | Have you written a book?

109 o0 ool 3 85lg0 yo (L 2obo) colw S Jlo o 5l
.g.ﬂ‘snfor P since La}!sm aS el anils dalsl Jlo yloj B g oals g9, aidS 5laS Sl b Jas 9590,0 Cosxo -

I’ve worked really hard for the last two weeks. .plos,S 15" cow oY1 b atsds ais g

gl oo oolaiul how long 5Ll b les 50 Gowwp Jlow olp il s

How long have you lived here?

raiile was o Lz 1) oloj slawe SINCE g loj Jobo TOr 12 G

for two hours, for three days, for five months, ...
since 2006, since Sunday, since ten o’clock, since | was four, ...

| have been in this hotel for the last week.
| have been in this hotel since last week.

ool 00l 43S T b 0,55 )3 & le S5 SINCE 5l o 5103 4SS

I have maded a lot of progress since | joined your class.

(e OMaz o &5 adl) 0,5 Bl g oo ez o |, TOr 4 4G
They’ve been married (for) ten years. (with or without for)
They haven’t had a vacation for ten years. (., - for)

209,000 L8 wall Lfor 5 ass

I’ve lived here all my life. (not I’ve lived here for all my life)

SINCE i oxs Jxd & j—0 ol 50 3503 J203 SINCE L ol jos e Moz 4 g oo |, FON Lol o e o> 16 iSS
Ll ool asds Sygo 4

She hasn’t called me for a week = It’s a week since she called me.

gy e 55 4 va LAGO 4 SINCE 7 4SS

as az] asb ‘M‘"Sgs“"ﬁ*f"—”dj £999 3290 Loy 3590 yo Lelools 7y ai 535 loj 0 a5 BT 5 )50 40 Cue o -

ol J ley 50 Ll a5l cuenl b sl 5 conle Hlaine
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I’ve read all the books on the reading list.
(o1 mlmodiles 5l (SloauS> VI g plodslys 1) cnd 15 39240 (SlaclsS alad)
Someone has broken the window.
(ol S 1 0,y a8 ST)

a5 S ood ol Ll e (Bl 4,20 &y 4 o] 51 g sl oas plad g ool 3lasl asdS o a5 Les o,)b,0 Cuo -
g se ooliiul . UP 1O NOW 4 before 4 never 5 ever ;i clel s lge ol ,s ol ools &, 289 4> Lisds

A: Have you ever been to Italy?
B: Yes, I’ve visited Italy once.

g O 4 ool dlndS O jge 1) a8 wul ccanl ool #) aBge ax  Jlog/ 3Ll aS (S Ly ST 1SS

I wasted a lot of time last week. (not I have wasted a lot of time last week.)

(wlosludl Sl a0 glaainds o as Slaolyy, o) Wyl blo )l me Jb Gy bas By b Jlesl 0,90 50 2 aSs

oS o ooliinl elS” > )
The Chinese invented printing. (not have invented)

Bd §3 S b (oS 4 a2, el ST -
Sara has had a baby.

‘SL.xAdgjuSt ol yorr 4y ool oS Jlo 3l il ous plowl |8 alasd wiz aS (S Coseo dos 4 a2l puplge ST -
oS oo ool Ko 3l — L3 alasd) wimd
I’ve just got up.

oolw 4535 L JlS Jl> ez j0 (Y= b ¢5900) VBT 4 (0! 5 i :)L,é) already (o35 ¢y alax] A;g-)jUSt 3 -
oS o T oe alex slgl o Ysano 5 08 oo ool ul Jl3—w g e Moz ,0 YL 51 0iS o ooliz ]
258 oo ooliiul Cutte SMlax 3 5 alex Lawy 4o buws already

A: Are Diane and Paul here?
B: Yes, they’ve just arrived./Yes, they just arrived.

It’s only nine o’clock, and Ann has already gone to bed./Anne already went to bed.
Joy bought a new dress, but she hasn’t worn it yet./but she didn’t wear it yet.

Have Diane and Paul arrived yet?/Did Diane and Paul arrive yet?

olyor a4y ool JolS” Jlo 5l el oa i plowl jUaiil o906 ey 5l 5055 4 @S oo Jlos 4 a2l pulese 1 -
oS oo 00liinl Ko Yl pan SL3 (L3 5 ae 4 already

A: Don’t forget to send that email.

B: I’ve already sent it.
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ol LS o 5l ealonlas ol a5 ol Sue b g aaloolad sl 5500 45 55 oo Los d axl, aunlese 51 -
o5 > 5l e b S b9 plsl 35 . 2 &2y pepleze 5

WT\JS‘SA OOLA.:.MJ‘
I have never smoked.
I haven’t gone swimming for 10 years.

oS oo ool soles S Jl 5l om0 bl 1 (6,15 a5 (b meaiiz L) el (6,b dgl ol o650 pudlye ST -
This is the first (second) time I’ve lost my keys.

e oo oslaiwl ool JolS” > 5l Jle Slas 5l ax -
This is the most boring movie I’ve ever seen.

ce g aian CplGg el e Tl oatd plad 4T Slej 0,90 S 050 40 Cousxo -

I’ve written a rough plan this morning.

1395 g0 oaliiul ool ol b el oads zokae 3 50 a5 Shbe 5l aw Ygere -
It/this/that is the first/second/the best/the only/the worst/...
This is the only road I've ever known.

S sa o3liiul EVEINEVET 3| Ygars Jgu SDlax o iS5

A: Have you ever played golf?
B: Yes, | play golf a lot.

&) ol Jol5 JU> >

+ have/has + been + verb (ing) I’ve been studying really hard.
- have/has not + been + verb (ing) | He hasn’t been studying really hard.
? Have/Has + ... + been + verb (ing) | Have you been studying really hard?

10gu o0 oliiwl 3 35lg0 40 (g5 ol JolS” b yloj 3l
el 00y UL 4 i Slasd b I),_>-| g andls aslol Jl> b oy £g 8 ainds o a5 Jae Lo slp -
Where have you been? I’ve been looking for you for half an hour.

25510 aelsl 55 (Coummo alazd 10) 93T g Wiload g4 05 43S ,0 a5 Jleel sl -
It has been raining for 2 hours. (.o, e o,L,L o2 j9i0 §)

How long have you been learning English? (occue ;)T (254l Jlo )0 po joi0 o)
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&) ol g 00l Jol5 Jl> duns Lo >

b sospas 4 09b o oolital ool JS& 5l Ygane wilanils dalsl SYab Sae 4y a5 SV 5 Jlasl 0,l,0 Cuss sl -
Jsb e a5 o pise ) @ Jloel sl 1 T 6, yotad S g 0iS oo ool ul solw JolS Jl> 5lalways aals
s (890 g 00 dS

I have always worked hard.

John has always lived in Denver.

I have been working for this company for 3 months.
I've been studying English for six months.

4 6l poi] JS el 00sS Jobo e dx by g 009 a> Joe )] _oim cons plowl 45wl Les  ounsS ST 51 -
WDyl oo okl ool JS& 5l el ouls plol SIS Jlade 4z b olaw a> aS ol Jos 4 o &..SL Shlel.og, 0,8

| have been writing letters since morning. (e asb Jos  0ST)

| have written three letters since morning. (Lasb slass 5 0.5G)

How long have you been reading that book? (-uls> Jes ,» 0sSTG)

How many pages of that book have you read? (axis slass 5 o.5T)
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A .'.‘AS OLO} _2

oolw aAihds
+ (o2eld o Judl 5> 4 Verb + ed He called me yesterday.
- did not + verb I didn’t call her yesterday.
? Did + ... + verb Did she call you yesterday?

109 o0 o0liiwl 35lg0 oyl o ool aALLdS o) )
ol 00 r:LaS 9 W) ﬁL?u‘ PUVRLY 3o FL ‘_,’l.o.c o)l.g)é (e V) 6‘)‘.’ -

I went to Italy last summer.

109 o0 olitul oolw axdS 5l What time...? L When...? b 0,5 Jlsw adge yo -

What time (When) did you finish your work yesterday?

il oo (6l peil oS J> e ;0 hOW lONG 5 ooles 438 Des ;0 WheN -

When did it start raining?
How long has it been raining?
How long has it been since you last saw Joe?

VALY uyx& ) ago b).g)ls =

Sara started her new Job three weeks ago.
I had dinner an hour ago.

+ was/were + verb (ing) He was watching TV.
- was/were not + verb (ing) I wasn’t watching TV.
? Was/Were + ... + (ing) Were they watching TV?

109 0 00wl 85190 (i 5O (5, posiwl ALLAS o 3
w‘ om Jj.la (5'“90‘)‘”" ﬁl}u‘ MA?)QAS‘}A.CQL\A 6‘;} -

All yesterday, | was working on my car.

A L: Sl 00 rBLoJ JWWB Sl 009 r:L?u‘ JL?-)O Md.f)d é.o& 450.:‘ ud‘é uLAAJ_) 6‘)) =
Sara was cooking dinner. ((cuws sasie Joe o pled)

Sara cooked dinner. (.ol oo ples (50 Jos)
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oolaiwl oolow A 535 ¢ (o)) jaiwl a8 5licwl 43,5 a0 K00 L5 £485 o 10 (6,15 pm s elesu o5 o -
when, while, as, ... |jl a5, Le g o o3lital 3,50 cnl ;3 Ygons a5 SLelS) 1S oo

Matt burned his hand while he was cooking dinner.
I saw you in the park yesterday. You were sitting on the grass.
When Beth arrived, we were having dinner.

oS oo ool ool aLsdS 5l aid 5 pll Koo e 5l ow et po oo peplyte Byl aisS
When Beth arrived, we had dinner.

5,105 (6] el andS Cl Jladl 2 aiss

soliz_l Was/were + going to Ll ;i wla sl 1) 6,15 abl omad 4238 o) 40 awsSe 4Kl glp 13 ass
S (o8

We were going to travel by train, but then we decided to drive instead.

ool ol el o0l 3lis] Lol s &y aiwlys o a5 glandly Lo (gl (rizmen WAS/WETE + gOING 1O 114 S

oS (50
I thought it was going to rain, but then the sun came out.

oolw JolS asisds >

+ had + past participle They had listened to his music.
- had not + past participle They hadn’t listened to his music.
? Had + ... + past participle Had they listened to his music?

199 o0 0Ll (T oo anld] 35 4 53,190 4O (Vurs Slo) olw JolS alsdS o 31
a1y s Oigo nl 10 oS 0, Lol (655,90 ALBAT 4 lstu § piS o0 St ABAS o Bl 4 xxly aS Jle -
ol oyl oe ooles 4LBAT ISE 4y eenl ol plo Towy a8 1) Los 5 ds 42338 JSUS 4 0ad alwl 5,90 4535 1o

ax1 o When, after, before, as soon as asle a, <ldS b cdél & le g0
The robber had escaped before the police got to the bank.
When Sarah got to the party, Eric had already gone home.
(conl 00y Slage 4 Lo s g a8, A a0 Gl gl (sioms 090 45, SOl cdnny  Slogs a0 1yl B9)
After | had washed my car, | went to fill up.
The boy sneaked out of the classroom as soon as the teachers had left.
L ooolw 4538 51 asl . oS sod ool duey 4535 5l cai il cod ploxil o5 Al sld 4 b lejen Jos g0 [ST:aiSS

PV ool (gl ol

Cond jlan Culwrg jo Ady) L,wll.flgls u_gpj Oledbs) g sl L}-’..)-"T




17 s LA sla 9efT o 5xalS _sge OIS

When Sara got to the party, Eric went home. .cé, 4l 4 <)) ) Sloges 4 1lo 235

When | got to my office, my boss was waiting for me.

& yostas! JolS 4ois >

+ had + been + verb (ing) She’d been studying for ages.
- had not + verb (ing) He hadn’t been studying for long.
? Had + ... + been + verb (ing) | Had you been studying for long?

1994 o0 00liiw! (T oo 4old] 3o 45 (68 190 43 (5l pociuw] JolS a5 o

30 oy e gl o b £48g 5l LB g 4idS 0 AT S so oolaiwl Jas Lo sl ()l el JolS 4238 ) -

el 009 (yold = J&

We’d been playing tennis for about half an hour when it started to rain heavily.

2 ool elS an38 5 5,0 wuST ey Usb s 8 ool yainsl olS 438 ot 4 LelS Jlo oloj o sl asile s

Ol ol g 4l g Jee

When | got to my office yesterday, my secretary had been sending e-mails for 2 hours.
When | got to my office yesterday, my secretary had sent 10 e-mails.
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c..\.L.g.T dLo)’ -3

AL polB 0,5 S e aS 0ad oo colain] el slo a8 ool o,b,0 Cumo (gl

m.;ﬂ LgLJum L JL’> OL"} 31 eolasw!

v g Wlosw 4ol o cogec adis Jilug saiugyle) Jgaz (5,5 Slelu Jguz 0,50 40 Cumo ly ool Jl> -

The conference only lasts three days.

The plane leaves Chicago at 11:30 and arrives in Atlanta at 2:45
The train leaves in 20 minutes.

What time does the movie begin?

S oo oolaiul ool Jlo 3l 50 )15 aeils b g9, Loy ylo sl -
I start my Job on Monday.
What time do you finish your work tomorrow?

eniS o0 ooliul ool Jl> 5l WheN, as soon as, after, before, until, as long as Jio olalal, 5l ow -

I’ll be feeling nervous when | get to Rome. (not when | will get to Rome)
Can you do it before we have the departmental meeting? (not before we will have the meeting)

g g0 00laiwl (5l yeinl Jl> ylej san| e sl 0,81 slas 3,40k 0,90 4o =
We’re staying in a small hotel.
What time are you meeting Ann tomorrow? (not do you meet)

oolw m.;ﬂ

+ will + verb We’ll enjoy it.
- will not (won’t) + verb He won’t enjoy it.
? Will + ... + verb Will they enjoy it?

1O g 0 odliiwl 34lg0 ! yo Wil 5
QLS 00 (53,400 sl IS L soll 5 duad [Kls a5 san ] ylej j0 ladly 4 gl Coseo -
I’ll be 28 next month.

A: The telephone is ringing and I’m washing the dishes.
B: I’ll answer it. (not I’m going to answer it.)

ool Jg sl -
I’ll pay your money back next week.

Cond jlan Culwrg jo Ady) L,wl.i.flgls u_gnj Oledbs) g sl L}-’..)’T




19 s LA sla 9efT o 5xalS _sge OIS

I won’t tell anyone what happened. | promise.

WSS slgri lp -
That day looks very heavy. I’ll help you with it.
(o Dyg0 4 (0,5 Lo ol -
Will you shut the door, please?

raile Ghle b SladS of pon oy -
probably, maybe, I’m sure, | expect, | think, I don’t think, wonder, doubt, suppose, guess

It will probably rain tomorrow.
Maybe it will rain tomorrow.
I think Diana will pass her driver’s test.

39,50, aWe gl sl sl goog will )#Ja:shall ookl 5,k 1 asss

We shall go to the movies this evening.

g oo oolaiwl (6,50 5l wles Sl b g SeS slpaiy (gl g (Jlgw ez o shall 512 ass
Shall I carry your shopping for you? (= do you want me to carry ...?) .S slius

Shall we go to Italy for our vacation? - ules L

22,5 oozl ShOUld sishall sl> a0 )lgs oo 598 OMax j0:3 &S
Should I open the window?

Seo3 oyl
+ am/is/are + going to + verb We’re going to hire a car.
- am/is/are not + going to + verb He’s not going to hire a car.
? Am/Is/Are + ... + going to + verb Are they going to hire a car?

109w 0 odliiwl 34190 ¢! 5o DE gOINg tO s
.(ob‘)‘ d"L’"‘ )J) fb'i)b OA.L..:.T dlf as ‘s:lmcub); QL\.: 9 RO ﬁL?u‘ aA.L.J B f°"~’~)b duald 4 ‘S:L{b)ls UL‘" 6‘).: =

I’m going to buy a new car. s aos il SG a5 plo suad
Jb 5 ) (o s B 3 JM) oS Camo oan | (gl oo spyaelip B 5l g oxkad 18 a4 axl) STiassS
39yi00 5 & 35 Coeanial 13,8) Loy aud o Voo 45 @S o o0litl (5 ) pocinsl

A: When are you meeting the boss?
B: I’m meeting him tomorrow.
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55 55 g iS55 3l plaml 4y el a5 El (fimo 4y oS 50 00l OING 1O 1 a5 235 Lo
23y ot al o a1y )] a5 ool

I’m going to wash my car late.

A 1, Tl S oS S s (B 5 o 2 b 5 ol gl 205 s

S o oolazul Was/Were going to 5l cwl oolas slssl 1, o1 Jg cauws alol aisds (o il dad (S -
T B Pl Ol (P9 qpapd o »h oo S

I was going to buy a new car but I changed my mind.

! 052-5.4 as 6;&.@‘9..» qu.u‘ » od...:] ‘su..:du..: 6‘).: =
Look at that black cloud. It’s going to rain.

onl s Gaiia b g ol ool)] g ol Sl g olidl salgs sl eans] jo a8 Ul b Jes 0,b,0 Cum o sl -
ol Wl sleo )5 51 G alin 0,8

I’m going to be 28 next month. (= I will be 28 next month)

(3l poianl 0055 |

+ will be + verb (ing) I’ll be studying all next week.
- will not (won’t) be + verb (ing) | She won’t be studying all next week.
? Will + ... + be + verb (ing) Will you be studying all next week.

109 o0 08Liswl 333 35190 30 (55 ol sy T yloj 3
SeiS algs b (Saw g od salgs plil ean] o a4 Lee Lo -

My final exams begin next month, so I’ll be studying all next month.

D91 pdlyS ol almil Jl 30 sme abazd jo eon] 0 a8 lee Lo -

Please don’t call me tomorrow afternoon. I’ll be studying for my exam then.

o0 ploil sanl yo a8 w8 T anad g 00,5 (55 a6l ol slp 8 5las e, ol -
I’ll be seeing Sara at lunch.

)8 oS meplst oo b g medlor oo ) sz a5 Sloy (pg—as @ ijls (o il aS glaaslio)l)s oy -

A: Will you be using your computer today?
B: No, you can have it.

aboge sla I -

Excuse me, how long will you be using my computer?
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A dales bl g, sl 5l cisu laie 4 eanl 0 aS sla S oL -
Will you be flying to Italy tomorrow as usual?

oolw o5 e
+ will have + past participle I’ll have done it by then.
- will not (won’t) have + past participle | We won’t have done it by then.
? Will + ... + have + past participle Will you have done it by then?

Jos oaisT jo e loj 40 45 ams o lis i oS oo o oan] yo |, Ul b e o olS o JelS su olej -
by Sunday, by the end of July, next year, until e ;b slaad 5l Ysens 5 o salss Jols >

g8 o0 oolizwl Midnight, before then, by the time you get home, in a week’s time ...
By the end of September, I will have worked in this company for 6 years.

(953050 JolS 0Ty Jlo (i loj ke (im0 (50 L5 S5 b ol )9 45 09 lys Jlw Gl ol 011 1)

6)‘).0.».»)‘ J.olf OMT

+ will have been + verb (ing) I’ll have been working here for 3 months.
- | will not (won’t) have been + verb (ing) We won’t have been working here for long.
? Will ... + have been + verb (ing) How long will you have been working here?

pelgsn o8 o g ool S 5l oS Sl |y Jae ol plod pudlssn o8 o 55 JelS sl slp oS > by asilen -
oS oo oolaiul (gl el S 51 s Lis 1) Jee aslol
By 4 o’clock, I will have painted the bedroom.
(a2 anlys ples Joe gm) 0,5 aoly> K, 1, 3614 celu b
By 4 o’clock, I’'ll have been painting the bedroom for 3 hours.

((ceals aalys aslsl join Joe ) oS oo 5, 1) 361 ks 4 ad salys cael 4w 4 el s

AHAS 40 sudy

Sl aslys Glas! oo ool ;o 4T Wles,S o K6 ALBAS )0 Leb 4S 09 oo soliiwl A Lo (gl asdS jo sus]
el b3 & g0 @ would G5Ol 4 S 09 0 oolaiul yols g8 b ol Cdbogls Ly (sl would 3
would + 10 g0 jouae IS5 4 Jad
I knew you would not help him.
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J&8 gloj ssypas

every day, always,

while, ...

2 2ilg e > g > Jladl -3
WNigd ddgi (6, el Ll

never, every week, S5 5 2ole L L8 )0 ekt pg 1) Jab ool 3
every evening, tWo | Jie) cow,s aiuad o)lse -2| (o ks has a,have 35,5 <65 |osls Jb-| 1
times a week, three
. ! (sole sboolay (Dg
times a month ST
shoe b ploy BlLblas Jee Lo -1
il oo bl Jl j Koo
now, ol ok am/is/are + verb (ing) Je 9
at the moment, ... | s asly o5 > g > JUudl -3 | am writing &) yoad
WNigd ddgi (6, el Ll
ails oo o] sliae g5 o -4
il
g oo el e 238 0 a5 Jee -1
ot olesasd 1 sto plamass L 1 Jy il ol
ince + Lo . .
since + ;L wos ol B have/ has + PP L5 > 3
before S5 Sy ol Slids slaws by =2 | have written
two times
o S absl ey Saw b gm0 ol -3
three times, ... PRI O ek AT O
s
for + oo 08 5 oud el 23S las oe ol -1
since + -le: o alez 55 aslol g oyl aslsl eSS )
S .s| havelhas +been + verb (ing) | J5 Jo 4
before o | have been writing &) yoz
two times, 55 il oad (Al 5 (o Jladl -2
three times, ... Wigd Aty (5, peenl [l
RT el 1 ed oacls b Jldl) Jledl g 05,5 o
yesterday, last week, | > & €535 o o8 st ol -1 o R Y
last year, last Friday, | 4bsie ooz ST Ll 5 1) easlig 5
= (3)5 I,,\_,_, oolw
.mﬂ)agobdlt_g-z o
He visited
I wrote
shoe b loy BlLblas Jee Lo -1
el 438,85 o plowil a1BAT o Ko
AL+ ands ol o3 . . : e
- s Ear—b 4 il e Joe 095 -2 was/were + verb (ing) wwnis
When+u,\5¢,u)~%_e - .. 6
ol obl I was writing &l el
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rses LA sl s T s 5elS _see OIS

b Jos 5l 8 @ a8 0 a8 e -1
il bl 5 58,5 ol %o ey

When + 4535 e a8 + LB
IR ORI 15 15 S, sl labs sl ol -2 had + PP 7
before, ... . I had written Jols
AB38 0 e by ole
Sy el loy e b a2 ol -3
RV A S P A DY o g - LY
Sl b s 5l b o5 o ol -1
ails el 5 aslsl o atsds (o 288
when + 42385 ;b od . had + been + verb (ing) s 8
before, ... . | had been writing
2 2l e > g s Jladl -2 e
g dldgl (6 el LSl
tomorrow, next |21 5 Sl S8 & Bl ol -] - . .
, Will + Ja3 ool o3 -
week, next year, REAYS) L will writ oolw oanf| 9
i : will write
next friday 001 5 ams slodeli o -2
)é p.:)L) m ASS:LQ)S UL'" 6‘;: '1
5 oz ol g el 03 am/is/are + going to + Jas oslw 23|  oanl
ol ool sl going Joeslo gl o 10
: | am going to write So;
ool o0y T i iy gl -2 going ”
shoe 4 loy Blbl a5 e Lo -1
A+ oan loy o |09 dalss ploxl Joaie oan] o S0 will + be + verb (ing) U
then, .... 2 Al b g > Jladl -2 I will be witten S|yl
WNigd ddgi (6, el Ll
by + o.,\.'_{‘ uLo) .,\4._9
in+QLA)’ Sdw L ooles 3l 8 cl 1,8 a5 Lae ol will + have + PP o 12
oN + ool o b Sy b a4 san] jo Koo e I will have written Jals
by the time + al.>
@ oanl o Sy bas Jee ol -1
WK J.b‘P dalo M 9 Ih}‘».\.;o )5.|a o,,\;_.{»‘
for + ol Jsb ) T will + have + been + verb (ing)
by + b o I will have been writing
2 2ilg e > g w Jladl -2 &l el
Qg a6 el LSl
would + Jx3 ool p,8 0 ooy
osle i o 14
I would write aLdS

o] 890 48 Lt ok lp -2
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(state verbs) <il> Jlesl -4

plxl a8 axiws  Joe ,Sko ACHION Jladl .9 oo (goipumds SLALE 5 ACLION 05,5 90 4 —wcdSSl (b5 o Jladl o5
S Jdl ol g9y Km0 i i (StALE) Il S Sl <l Jladl el Lo o @8lg a5 BlaT L pens o

Dl ol PRV-Y R

Judl g e 1S 4 6 yainal & jts lsioze |, ACHON Jlxdl a8 el el 45 JLedl il ey S5250 gliS o3 iotes
5,5 oolatwl (5| el Cdl> 4o e o3 1, SALE

need, mean, resemble, sound, weight, appear, contain, consist ,depend on, be, prefer, ...

el S 7y 4 2l Ll gl

Z)lﬁ"
agree, assume, believe, disagree, forget, hope, know, regret, remember, suppose, think,
recognize, understand, ...

4 Ll o0 K(yo,S SO popan b g 09,00 415 4y ool Ojao 4y diian € bls olaeh glins 4 think Jas il s

a2l 5 o)l el S5
What are you thinking about? alu -yen o

I think you should tell her what happened .co.s cége a5 Glossie Lo

wlwlusle

adore, despise, dislike, enjoy, hate, like, love, ...

:uu|9.'> °
feel, hear, see, smell, taste, ...

IS 90 5 4y ol ey g aigy o )5 eol S a4y ol e cdls s Jledl ] WARLE

oS oo oolaiul CAN 5l i ol F) by abasd en o aS S8y JLSl ol (sl 3 s

I can hear someone is singing

A S 90 o 4 €0 S O sline 4y (Jg 09, 00,15 4 00l Ojao 4y dian €Y slso 4y SEE a8 4 ass

D952 5

I see you’re making good progress.
I’m seeing the manager tomorrow.

D500 )5 4 S 98 ;0 4 €5 el line 4 TRl J285 4

Bgye0 5 A S g0 4o 4 o cliae 4 g 0ol O ygo 4 K0l 0500 (slixe s tASTE Jas 16 S
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D950 5 4 S 50 ;0 4 €0 S o) gl ;0 g ool Do 4 dlen €0l 90 (glins 4 smell Jad 1TSS

4 Llgs o0 € y0,S oSN (lime ;o (Jg 09,000 HI5 as ool IS0 4y aiiad € o, Hlai 4 sline 4 look J=8 8 s
Al 55 90 58
HOWY | P

have, own, belong

gy 0,5 A (6] yeinl O ygo A g dind €yl o SIL lixe 4 haVE got L have (9 wiss

We are enjoying, we have a nice room in the hotel - .sIL

&y 4y W3 o g Bolad o Sloges Jio sl 20 lo b 9 €03,95 sbis ,o (NAVe got 4 ) have 110 asss

D3y, 4 (5] et
breakfast, ...
a party/a safe trip/a good flight
an accident/an exprience
Have | a look (at something)
a baby (give birth to a baby)
difficulty/trouble/fun /a nice time.

We are having a nice time. (= we are experiencing a nice time) _ss> SBgl 4 Lo

5 55 6yl elS” Sl S el sl 11w

I have had this car for 2 years.
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Jote &Mozr =5
SU plil el gz ax b oS a4z 4l g 0 ool 00l plonil a5 loe Ladd (i oo coliiwl Jogome dlax 3l 23

Dgb SEDY adlol By b alex 31 10 b g 055 ;53 Jae 0atsS ol Koo ol pl s pgpo ol 00

am/is/are + pp ool Jl>
am/is/are + being + pp &l peil J>
have/has + been + pp Jols Jl>
was/were + pp oolus 4538
was/were + being + pp 6|yl 43S
had + been + pp Sy ALBAS
will/can/could/must/should/may/...+ be + pp SwS sl
have to/has to/be going to/want to + be + pp
seem to have/would have/might have/should have + been + pp

The car is usually washed. (by my brother)

She isn’t often invited to parties.

The room is being cleaned right now.

The room looks nice. It has been cleaned.

This house was built 100 years ago.

The room was being cleaned when | arrived.

The room looked nice. It had been cleaned.
Something must be done before it’s too late.

A new supermarket is going to be built next year.
This room has to be cleaned right now.

The room should have been cleaned.

The letter might have been sent to the wrong address. (oas sstis s olosl ool 4 asls Yiaz>)

by Jobome aloz 90 Gl o0 Ll (sl cnlpl il Jprie 90 JUadl dny S
We gave the police the information.
1. The information was given to the police.
2. The police were given the information.

L Jonie g0 Jlasloe

give, ask, offer, pay, show, teach, tell, sell, feed, allow, lend, send,...

t0 be + Pp a; Jseze <y (10 + VD) wsly joas pgo Jad 1 cdigy o )5 4 o oo oy Jxb 90 45 ol -

9 g0 Jpous DEING + PP 4 Jpgzme 2> ,o (VErb +1iNQ) 02 ING 3 4y pgo Jad 515 05500 Jra5
I don’t like people telling me what to do.
I don’t like being told what to do.
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5 polre joalls L 5l aS a5 )ls S99 polae sl ouas 51 S Lol 20 DB + PP Jseme joas 510 + VEID (pglae jouas -

I have some homework to do. (= some homework to be done)

il Jggmme Lxe jlas 51 g pglas jalls (Lo 5less g.;ﬂ‘sn need jlwinglﬂsgwl -

This car needs washing. (= this car need to be washed)

2 5 & Jgeme jhan ob g polae jdas o8 Glyiis wighoe £9,5 thEre L oS plaalex ;o -
There are some letters to write/to be written.

109 oo oolazwl €L be <k « Syl san Jamme ez jo -
| don’t often get invited to parties.

S 5 sloslyl a8 T ean) s slasl o latie e g Bolar jeb 4y ()15 45 Sgi oo oolitul adlge o Ladd et i
sk
Our dog got run over by a car.
25,5 oolazwl Qel 5l lgs sod 5,50 ads yo Lol
Jill is liked by everybody.
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# &y podiw! JolS
(perfect continuous)

have/has + been + being + PP
The letter has been being writers.

Gl 0395 HAl dligl Jgados 4ol

Jsame Jiebl gossges;

Jols
(perfect)

have/has + been + PP

The letter has been
written.

! 00 M}J Al

(continuous)

am/is/are + being + PP

The letter is being
written.

Do oo dldies ol ael

oolw
(simple)

am/is/are + PP
Je
(present)

The letter is
written.

Dgd oo Aol Al

had + been + being + PP
The letter had been being written.

had + been + PP

The letter had been
written.

Oy 0l M}J b

was/were + being + PP

The letter was being
written.

Al o Al Cule ael

was/were + PP

will + have + been + being + PP
The letter will have been being
written.

g Arlg> al Ayl Jerie ol

will + have + been + PP

The letter will have been
written.

! 00 M}J Al

(o.\;.{‘ 5o byl J_._e)

will + be + being + PP
The letter will be being
written.

aales ol aidys Jl> yo del

.é}.}

would + have + been + being + PP

The letter would have been being
written.

would + have + been + PP
The letter would have
been written.

would + be + being + PP
The letter would be
being written.

OSd alhg b o ael wyls

sl

The letter was AL oS
written. (past)
s digd 4l
will + be + PP
The letter will be e |
written. (future)
A aplg aiig asls
would + be + PP [IEEGEY
The letter would [EESSEN
be writ en. (future
Ogs dlgd 4ol wuls in the
past)
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cynls wole -6

used to

used to +t0 g0 ,0as icuie
to didn’t + use to + 10 50 joae e

Did + ... + use to + 10 /50 joae ! Jlse

109 o0 o0liwl 5 3ylg0 50 9 ALNAS o) 4o ladd used to 3l
pll ! ;500 ol > o S9 palosls o plol (plaie Hobo a) 41235 (0 aF 0uiS e colaiwl Jleel Lo sl -
(RO o)

| used to read a lot of books, but | don’t read much.
| didn’t use to lock the door.

o Sy 500 G50l (Jg el alils Cias alBdS 0 aS a0 Lo sl -

This building is now a furniture store. It used to be a movie theater.

89 cas ooliwl WOUI 51 > sl b Ll os,5 soliwl WOUL 51 ylgs o USE 1O (gl o i
She would leave the door unlocked whenever she was at home. (she’d leave the door unlocked
whenever she was at home.)

be used to

ol Iy s by o idils Sole Jad (] 1090 o oolainl by yle) dan jo g Cowl Kpiiils Soled glins 4y o8 ol -
D900 S wiNG 3L Jab b o b ud S5 DB USEA O 5l sy s e 9 ailKs lasly a5 v oo

I used to live alone. (o5 oo (S5 Lo ;500 L) po,5 oo (S35 Lgis axids jo

I am used to living alone. .(cos ooz 5 cume gao50 (ol 9) o35 (S5 b a5 pls Sole o

I wasn’t used to hot weather.
Are you used to life in a big city? No, I’m not used to it.

get used to

Sole JL> )d ‘5_»5 Mﬁi) M‘ﬁ’u aS M‘SA oola il UT )l ‘SALi..Q 9 o «ob; ‘d.u Sole» 6LAJ.A L JJ.B u)‘ =
)tscging el Jod L yed b ol S Q6L used to 3 A 00,55 wole QT@&AU}M S9 wl Gz A 0,5

P90
I’m trying to get used to life in a big city.
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uLuuo.b‘ 9 JLo..\.‘>| —7

I, s Jlax>lcould adl. oS s solzwlcould 5L g might L may ;leassT 9 Jb 3o Jlesi! (Lo sl -

IRE-X Y olad

Jet + might/may + to 50y joas
may/might + Jebs + t0 g0 jouas | Jlw

Jebs + may/might + not + t0 50 joae ! e

I may/might go to the movies tonight = perhaps I will go to the movies tonight.
May | ask a question?

Sonia may not come to the party.

The phone’s ringing. It could be Matt.

oS oo ooliiwl MIGNL 5| Lass axiucs adly a5 Slacaadse slp Ll ylas oo b slis Might L may ;| eolisul -
If I knew them better, | might invite them to the party.
23,5 oo D23 Sloge 0 1, LT Yol (qis b o 240 |, LT 5

10,5 solitul iy oo i (5, el S 0 May/might/could ;i -
could/may/might + be +ing s,
Don’t phone me at 8:30. | might be watching TV. (= perhaps | will be watching TV.)

oS oo o0kl 393 Jlax>| slaasl p o sl 6] peisl IS cpl 51 Craiomoss -
I may/might be going to Mexico in July.

Lol lol b pus plomil auiles oo a5 (6,157 o 20 | 2o WE May/might as well do o Le :assS

Rents are so high these days, you may as well buy a house.

sl San iy wuiS o oolil CANTE 5l ate ylelol Sl o -
He can’t be in Italy. | saw him an hour ago.

25,k 5l all ead ploul 428 o Jas o)l ISl 0 o5 melesn S8y S a8 by o Jleixl o sl -

'WT\JS‘SA oolazwl

could/may/might + have + PP
could/may/might + not + have + PP i cll>

She may have known about it. (perhaps she Knew...) .col aiuils o o] @ gy Gz wlo

She could have done her homework.
He may not have seen you. .ol sasil, 5 (Coul Sae) Yot
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g e oolil MUSE ;I L 4 definitely L surely b will certainly ;i - leabl oL ol -

She’ll certainly get the job.
She certainly won’t get the job.
You’ve been working all day. You must be tired.

s so oolazwl MUSE + have + PP 3 aadS Gl o liedsl Lo sl -

All the streets are wet. It must have rained last night. (;,Leabl L) .cosl ooyl oL caiys L

There’s nobody at home. They must have gone out.
Those two girls look very much alike. They must be sisters.

S o 00l MUSE NOL 51 o )ls licelsl (a9 Cawyo 5 (g -
Carol takes the bus everywhere. He must not have a car.

bcan,t + have + PP )‘ ML: W) r:L?u‘ PUVRLY L téJ“"‘c Cnl ui.o..a )J Mﬁi’ M‘j}u ‘5..99 ) ‘SQA.A o> o~
d9 00 oolizul cOuldn’t + have + PP

He was too far away, so he can’t/couldn’t have seen you. .ozl eass |y o ol Soeué

Yl may/might not have + PP cll> s a5 1> S s (5,5 May/might not L couldn’t s 1 4

Aok o plil 41338 0 e a5 el Sew e COUND NOL have + PP el o Lol woais plosl 41238 jo Jos

4 MUSE NOL 5 ceul 30z o8 bl (slins 43 CANNOL a5 col o1 4o 55 MUSE NOL 4 CANTE &oglis 12 i

S Cans i ol Baeldy a5 cunl ol slins
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‘51[3‘33 -8

4 oo ooliul €AN, could, be able to ;1 LUly Lo !y

can

W-MS‘SA oolawl Can )‘ ! )Jd.:ulin‘ J.o.c r:L?u‘ L) 9 Q)LB ‘) 6)5 Pl}u‘ ‘S:L:‘y gam rg.uai: M‘?(SA aS @3‘9@ g T

Jelb +can + 10 ;g0 joas e
Jebs + cannot (can’t) + 10 ;oo jo0 it

can + Jeb + 10 ;o jome  : Jlsu

Can you change a ten-dollar bill? I’'m sorry, | can’t.

1ol 5 Jgene CAN a5 Coils axg5 Wb Lol .o S sslazwl De able to ;i e s CaAN > @ -

Are you able to speak any foreign languages?

oS ooliiwl DE ADIE 10 51 as ol (559,00 5 Cancs pdu Sl CAN 5l ooliiwl o lge S 4o Lol =
yhas jlax 1
It’s interesting to be able to speak 4 languages.
SeS Jdl 5w 2
Tom might be able to come tomorrow. .abs ls,5 wly s s
L5 J> le; 103

I haven’t been able to sleep recently. .wlssu plodgs ,ols |5

2,5 oozl DE ADIE T 5 vo 5 CAN 5l v o5 oo 00T (Gl -
I can’t/won’t be able to come to your party tomorrow.

could

=S (2552 pelyS so By 1S oo ooliid COUN 51 4sdS Lo 55 ()15 planil o3l 55 5 (IS Ul ol 10 -
oS oo oolazl COUN 51018 1) 6 15 alowil 051 b s ls cols Sllgs

When | was young | could run very fast.

My grandfather could speak five languages.

We could do whatever we wanted. ..as plxil pealss oo )5 0 quiidls o)l Lo

el iz, COUND 51 oslil Lol g, 0 15 4 axindS o LUy olo sl 50 Was/were able to -

I was able to speak English when I was 10.
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‘—i.’. 4) d»d r:L?u‘ ‘) (5‘0L> )Lf (Sl 00l d59‘°) Sl M‘y uoL> M.\.x.eyo sS.) ) (5.42....: as W"’"9i’ M‘ﬁ’u as QS’L") -
oS solizl Managed to L were/was able to ;1 b Lais o o,5 eolizal COUN 5 lgs o (IS Ul

The fire spread through the building quickly, but everybody was able to escape. (or but
everybody was managed to escape.)
a2 Sl 1y 095 dituilys ded (Jg 0l Gidu leitle sl den Sy 4y 351

5,10 0925 WasSN’t/weren’t able to ; couldn’t ;o Sgles o <> o -

was/were able to ;l 4 548 o oolizl COUI 51 23 5 cus Jladl ol o @0 -

see, hear, smell, taste, feel, remember, understand
When | went closer, | could hear someone calling for help.

Dyl oo ookl i sanl b b oyley 4o 50,5 oleris sl could 3 -

It’s a nice day. We could go for a walk.

15,5 ool lg o s CAN jlCOUN sl> 0 )lg0 ol yo

oS oo 03liinl COUND 51 et plowil s oF oo 4 1, (6 e o, ol Laly a5 ablgo o -
I’m so angry with him. I could Kill him. (I canKill ... . 55 5

ez 4565 (] 0) oS 0 oolasul could 15 e g oan T b Jb leg 40 i [T PR O N PES e P
(2,5 oolaiul 4lg5 ce5 CAN

I don’t know when they’ll be here. They could get here at any time.

could have done

could have done ;I wleslas plxsil 1y o1 Jg melaals 1 6,5 plosl o\Sal b cas b 0w 550 pudlys oo 4 oablge ;o -

MS‘SA odLﬁ.L.u‘
He could have had a wife and children.

g o ooliinl 5 4238 o Jlus! ol sl could have done ;i ¢puoes -

The situation was bad, but it could have been worse.

:cwl Would be able to xs 4 could 3yl oan -

We could take a trip if we had enough money.

;= Would have been able to do s 4 could have done =iyl a5 -

We could have taken a trip if we had enough money.
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k!9
1595 g0 oslainl 5 Jldl 51 L by sl

should, ought to, , be supposed to, must, have/has to, need

have to ¢ must

Jelb + must +10 g0 joae e
Jelb+ must + nOt + 10 ;o jome 1 bte

Must + Jelb +10 g0 jome  : Jlsuw

oS o 00l NAVE 10 51 1S Ly 1, 6,5 plonil &5, elsses olF o -

Jelb + have to / has to + Jxé gl cannd : > o)loj cuite S
Do/Does + Jels + have t0...7 : Jl> ol Jlsw S5
Jes + don’t/doesn’t + have t0...7 : Jb> ;)b ite S5
Did + Jels + have 10...7 :a2i8 ol Jlsw S5
Jets + didn’t have to... 238 ()b e S5

Kim starts work at 7 o’clock, so she has to get up at 6:00.
Have you ever had to go to the hospital?

I might have to leave the meeting early.

What time do you have to go to the dentist tomorrow?

2,5 soliwl lgs o NAVE QOL 1O ;1 have t0 sl 4 wwe Jb> yloj 4 a5 S o -

oolitwl MUSE 51 (o biig oilgs g Jorlljgiamd ;o (Jg couiS oo ooliwl MUSE 51 iw haVe 10 51 owdSSH o)L o -

D9 s

3,90 51 (6 ks 5 9 098 plodil Conl oY A diis e Sl g Wig, 00 )15 4 (698 Ll Lo 6lﬁhavet09must -

.o)lo)p?\@psi"w@Lej ol g a5yl gl wa b Jad 50 (ol laceadse sans jo Lol iaig, oo )15 4 LSS ek 4

oolazwl MUSE 5l aes plxil ) (5,15 sl p3Y a5 WS uls] (5043 00k65 n b oan 68 095 b 5l Ll 51 -

9 plae g Shi g (gl 9 D) ke o) Wl (g CuaBly SG g 998 Jaezt 0ansS p gpm 5l Ll ST (Jy 09 o0
g o ool have to 51T (e

I must lose some weight. I’'m getting fat. .o o o |, )Ll 3845 0aisS

I have to work late tomorrow. .ass oo plo 1y (Sgpm candly o Laid oo S
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ool plSis 4 by g ool o ol Jlo caxdS slacle) (sl -0 00 41ddS g 39, 00 L5 @ 0an] 5 Jl> (sl Lais Must -
2,5 ool have to ;5 ol o Laas Mmay, might, ... Jie So5 Jldl )

I must give a lecture tomorrow. szl

When | was at university, | had to work and study at the same time. 4238

Have you ever had to go to the hospital? s Ji-

We might have to cancel tomorrow’s meeting. ( SeS Jas) .ouiS JusS |, 15,3 audo augd Hgumme 2l

(e LD 058 plosl wls Las a5 cal )T (Lo 4 MUSEN’E .05 s Sglicte SalS (glune (giie S5 0 Jad 95 ol -
b s plil ) Joe o1 a5 oo )lo Las] s i plosil Joe s (o5l a5 el )T slixs 4 dON’t have to J,

o5 gl
Bicyclist must not ride on the sidewalk. L-!

You don’t have to work on the weekend. ,L:s|

should

Jet +should +10 g0 jome  iciie
Jes + should + not + 10 sy jeme  : ite

Should + Jels + 10 o0 jome  : Jlsm

You should stop smoking.

ey 1y 055 Jai el S 9 e pee 5 4 DO you think...?/ 1 didn’t think / 1 think L 1, should <3l el

o nese ) O S L S o0 Sz &
Do you think | should buy this coat?

oS oo 00laiwl SNOUND 51 csls [Uaisl M 1y b s S )0 (S50 a0 ey oo (g -
I wonder where Liza is? She should be here by now.

oS o0 solaul should 3 s asa slast o.)..ﬂ 30 G m)lo SUal p...a;u M‘j}‘sn as S8 -
She’s been studying hard for exam, so she should pass.

should 1 ceul ous plosl Lol sus o plosil wls ()57 b g o Lol oy oo plowil Wb a5 (6,15 5 4238 oy sl -
oS o0 0olizl have done

| feel sick. | shouldn’t have eaten too much.
S MUSE 51 slans woad g o,08 L,k 5 should (1 aiss
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1S o 3,5 have to L should lae 2 4

I should study tonight, but I think 1’1l go to the movies.
I have to study tonight. I can’t go to the movies.

el 5 o, OUGNE O Lol 0,5 ooliul )5 oo 3 OUGE tO 51should sl a -

You shouldn’t smoke so much = You ought not to smoke so much.

5 had better Jas 51 -y o ShOUld sl 4y (oums plxil 1 (5,5 ol yigs 45 0650 pudlysn o5 Sloj (pimoen -
5,5 oolazuwl

You have a temperature. You’d better go to a doctor.
You’d better not smoke so much.

slixe 4 DE SUPPOSEd 10 ;I )15 o ShOUID (gl b el oS (6,5 ploxl o g ummo o9,y pugie pudlyse 51 -
oS ool €yl faS el 1,3
I’d better hurry. I’m supposed to be at work at 8.

:2ol 10 DE SUPPOSEd + DE + 28 pous Casnd & 50 4, DE SUPPOSED 1O 5,15 Jgame i S
Fred is supposed to be told about the meeting.

need

et 3 3Ll e 4 ks a3 Gline p ogdle NEEA Jab -
We’re late. We need to hurry. .S alxe wb modum, 2o

Jolae) 05 plml )5 cas p3¥ a5l xe opl 4 dON’t/doesn’t need to o need i S -
(don’t/doesn’t have to

You don’t need to work on the weekend. . s 5 aiss 31 s jgumd cand o3V

38 oo oo 1y lee Jgl a5 845 e it NEEAN’E have done g didn’t need to s g0 4 42235 \l; ;o need -
el 00 r:L?u‘ (5]5 09....» rnL?u‘ 009_:..3 P)Y as du.s‘sn QL\J ‘) ‘SLQ-C @290 9 Sl 000S r:l:u‘ 9 05..» r:L?u‘ 009.:..3 'A)Y FLY
I didn’t need to water the flowers because it was raining.

(ool pll 1) L5 cnl g Consi b S ol ST 4 (630 a5 0l azgie L (s b ooy s¥)

I needn’t have watered the flowers. It began to rain after ten minutes.
(‘! ools plesl L el st 8 1 15 el Lol oogus o IS jols Ol s o3ls a8 sods axgie 5L au,b 5l o easS)

Cond jlan Culwrg jo Ady) L,wll.flgls u_gpj Oledbs) g sl L}-’..)-"T




37 s LA sla 9efT o 5xalS _sge OIS

.95y wlex -10

oz loy a5 ol ool Ll ao ols S5 Lol oacld § dgd oo £905 €3 6 (slins 0 WISH o315 b 093,T oMo
w2 e 4 oloy SEWISH ales j 1) ()T 5 oS o | by

I don’t have a house, | wish | had one.
il 3 Jguz b Bl (593,1 OMles 50 oley ool 18 s

osbw JI> - SPEA
&)yl Jl> - &l ol 45AE
ool aLuds - el a8
&) ol aLds - &)yl Lol 4535
Jo6 b - Jals a8
Sl il JolS” I - &)yl LolS” a8
&)l ol JolS ands - &l yeiasl oS aiis
ools outy| — osls 42335 )0 ooy
Syl o] - ol yaiasl LIS )3 0as
S - JAlS 22858 5 o]
N

6)‘).4.«..»‘ J.nls m.\...:] 6)|).M.J| J.alf VALY B o.,\...:T

oS oo ool WETE 5IWaS sl> 4 b i Ol wiile ‘53.3)‘)1 ez o 1 ass
She is not here. | wish she were.

ol 4Ll a4y uls hawd lo 4 ools Jlo leg it 89290 Lyl 5l oaysS S Slo a5 Hlacdl o 2 4SS
Bgd oo o aLsdS j eanl

Itis raining now, | wish it would stop. (u,b e oL, L35 sh

D9y )5 a rales ol ol <del I wish you would ... 13 ass
We are going to be late. I wish you would hurry.

Cond jlan Culwrg jo Ady) L,wl.i.flgls u_gpj Oledbs) g sl L}-’..)’T




N N = S TV N T YR T 38

e Mo -11
P9 oo el A 98 4y Wigd oo E9,5 - 9 WHICH g What Who L a5 Jlsw oM
oS oo ooliiwl dO/dOES/did oS Jladl 5l oS Jlgw o Jorio 4 gl Jlg anls 511
A: Who did you see yesterday? ¢ sus |, oS 4>

B: I saw Sara. .coul s, Jlgw conl alox Jorio a5 jlo 4 g, WNO Il aolS

oS oozl dO/does/did Ko Jlasl 5 als S Jlgm alaz Jebb 0 ao, Jlgm anls 51.2
A: Who lives in this house?
B: Jane lives here.
A: What happened to your car?
B: | had a bad accident.
A: Which bus goes down town?

30 S e baas 1y 0g5 a8l 51 B > 58 I Odlax 50 gy 0 IS A a8l 5l B > SO ol e 4y a5 Sl 1 s

Al Jxd 51 o alolidl adlsl B> (slo jglne ol
What’s she laughing at?
Who do you want to speak to?
Which job has Jane applied for?
Where do you come from?

D58 oo )18 alex lal jo aBlol Gy | omny (w50 12 WSS
From whom did you obtain the information?

A: What is your new teacher like?
B: She is really experienced and she’s friendly, too.

ool €l y2» Gline 4 g aid, S @ yelaie g s yoww n slp What ... fOr? -
What did you call him for? (= Why did you call him?)

which + .l what + .l -

What color is your car?
Which train did you catch? the 9:50 or the 10:30?

el gl what 3l oolaiwl Lol oS oo oolail which 3 S oo Cotro sl 5l oS olaed 5,90y a5 13, 3 ass

There are four umbrellas here. Which is yours?

199,500 5 4 (Lol &) plsl gl Lais WHO 4 &S
Who is taller? Bill or Sam?
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20,5 4 ud b b b olys e |, NOW -

How tall are you?
How big is the house?
How often do you use your car?

S oo 03liil NOW 10NG 51 caisS o Job e az (6,15 38,5 plon] s o eutls oo 39 -
How long does/did/will it take to do something?
How long does/did/will it take you t0 ...7  $usS aalss [aiSTais o Jsb ae 4z Lo 5l

A: How long did it take Anne to ...?
B: It took Anne a long time to ... .

It took me three days to read the booK. oS o Job 59, 4w pe sl SLS oyl

Do you know ...?, | don't Know ...?, L Jlle b g auitas e Sygo |y s ol p3¥ SlBgl a5 -

@ alex Jgl Lt @lge 4555 opl 10 (e o5 51 Could you tell me ...?, Do you have any idea ...?

el G B 090 0 g (Jlg )90
— Where is Paula?
Do you know where Paula is?
I don’t know where Paula is.

—When are you leaving town?
Can you tell me when you are leaving town?

— Where does he live?
Do you know where he lives?

oS oolaiul whether  if 3l abl anilas 0ezg (o g Why What) ey 4olS £55 e Mo OMex jo ST -

— Is Jack at home?
Do you know if (whether) Jack is at home?

— Did anybody see you?
I don’t remember whether (if) anybody saw you?

255 50 D50 DlyensS (et 5 (s OMaz pdiins yof JoB &5 50 -
— The police officer said to us "where are you going?"
The police officer asked us where we were going.
— Do you have a driver’s license?
She asked me whether (if) I had a driver’s license?
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40

b o
oolw J=
il
oolus aLisds
&) ol aLds
W5 >
Sl a5 i
&)l ol JolS ands
ool oyl
&) ol 00|
JolS 00|

&l el JolS o0y

— I’m enjoying my new Job.

He said that he was enjoying his new Job.

— My sister has gone to Australia.

N N R 2 2 R 2N BN AR NN

He said that his sister had gone to Australia.

ooy 9 s Jo5 Ji5 ~12

S 5 Oygo dy Jad o) e e Jo8 S )0 Ll ‘M)B]‘s‘ Ly &jle (e g 00,5 ool angS 1 pdiins o8 &5 )0

s e J5B
ool aLids
&) ol aLinds
JolS” aids
&)l ol JolS” ands
JolS” aids
&)l ol oS andS
&)l ol JolS ands
ool 4LB3S )0 o]
& o] 43S )0 eus|
JolS S 0 eus|

&yl JolS 42335 )5 ousy]

S e

4535 oy 4 Ygons b aloz ady 0uiS oo oolil 1010 L SR 51 Ygare oniiines i J5d Ji5 5l oolitl plSn o -

Tom said that he was feeling seek.

!

told ;1 3y Ll .assws Lale "l said Anne™ L "Tom said me™ plplo .l oo Jgrie pos SAID 51 on 11 @i

He said he was tired.
He told me that he was tired.

'f°"~’~)51(5‘° 9220y 1S oo oolaiul

5,5 Bl cl 90 4,8 olev oo |, that 12 aiss

4538 @ a5 I b o ls 45 & e led 4 dilgi oo AL ooles 4LB3S ey b aS | ad ite e Jgd & 013 aiSs

— Tom said, "I woke up feeling sick, so I stayed in bed"
Tom said he woke up feeling sick, so he stayed in bed.
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Tom said he had woken up feeling sick, so he stayed in bed.

alo J28 0 )l 59,0 oyl jliel j9im a5 oS o J&5 dlae ST sy |y Jad loj aS s oY dden 4 @SS
(45 o2 9 9,5 (B9e Gl o0 2 () WS Boe |,
— New York is more exciting than London.
Tom said that New York is more exciting than London.
1S oolaiwl addS ley 3ol o4l Cglas cadly b ouds ansS Cllas a5 adlge yo Lol 5w

I didn’t expect to see you, Jim. Kelly said you were sick.

oS oo o0liiw] JUdl (5 0uae JS 51 (5 ol Mo pitons ué g8 S5 o -
— Stay in bed for a few days.
The doctor told me to stay in bed for a few days.

— Ann asked me not to tell anybody, what happened.
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b i Mo 13

orlnez b g i 31 ] e 45 lagez b g Lo IS ¢l (slacommye 5 s o)byo Ygame oy Slen 5o

Wgdoe (iaieb ) i 5 A pg g pg3 (sl E95 A A 4 Vgas (b0 S)ex

Jal g9 (b

Sgds oo 00litul oo 5o Jedoms ais SO g S (Canmdge ) b yi o lo slp Jsl 95 b pd e

oolw Jb> will/won't M

If we play tennis, I will win.

If | find your watch, | will tell you. .cuS alss L 4 o35 oy 1) Lt celes 31

o5 O s Oygo al j3 a5 5,5 sl 556 é s MAY, Might, ;must, can, should ;i lss oo Wil 5, ogMls -

25 wely 38
If you pull the cat's tail, it may scratch you. a5 Sox 1) 5 cul (Sow (2501, 40,5 po 3]

You should eat less rice if you want to lose weight. . ,s50 mip oS Gl (&5 o5 09 s2lo> oo S|

WIS o0 Sy Jod LSl 1 gl g5 (b ODea 516,500 g4 -

anyone calls, please tell them to come at once.

(28lg e o) p9o £95 byt

il b Jlo ol 5 ol Joioms a5 (San i by gly o Conniye b b 5o ol sl 3 5 oot o

would ('d)/

S - i e
If I had more money, I would ('d) buy a new car.

If | werea rich man, I'd buy an expensive Car. .su,5 o coosdiy) 5 cmile S pog diads i 51
22,5 ool oo Might L could jiwould s> @ g o SDles g55 0l jo 1 a5

g oo o3liiwl WHEre 51Was sl 4 « by Odles go5 ol j0 2 &G
If I were you, | wouldn’t buy that house.
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((s28lg s adS) pguw £ 95 by

S5 65})] odingS «az £95 oyl Ho &ly j0 098 o colainl S 8 dlwaf yo=ai gl oy ez g45 (0l 3l
(aLidS axads L) o,lo 1) oglate arinds

would have/

would not have

I had seen you, I would have said hello.

(p3,S o0 Pl pog o ], 5 ST)

25,5 sslizul wa Might L could siwould s> 4 o5 o s g5 ol yo 435S

If the weather hadn't been so bad, we could/might have gone out.

1 sl s o 05,5 d ol b a8 aiva by 5 &hles 0555 50 (6 b b, a5 pslay Wb Lol oty SIS
B4 Jgens slagle; b oS ala,bbe (b g9 90 0 (b e Sl g 45 ails b (nlpli ogei ganail
53 ool l 590 0319 slagyle; b a5 sla Ll 5 05,08 s w1y gl £55 B ul b, 5 &Mz 45 Wy, oo

W9l (G (P 9 P93 E95 Jold) 55 o

oles o 0oliinl I L Jgors slogle) 5l ausS cummo LS b g adlyné slacandge o,b)0 audlys coi Lo a5 By -
Oy g alS oy 4y o Lil (gl alndS by (Jb ley 4 o,lil gl b by (s

If you want to learn a musical instrument, you have to practice.

If that was Mary, why didn’t she stop and say hello?

If the weather is good, | go to the beach.
If you heat the ice, it melts.

ool Jl> ole; 5 Main-clause ;s oo 5 If-Clause o oo o Lo, 5 alex oo 90 0 40 3] Jls g0 ,0 435
5,5 oolatul when 3 if o> @ ales 39 ;2 40 (lgi g0 a5 oud oslatul

@L{bu.a.éyc ‘5.4.: Mf oo ‘51.9‘9)*:- lebu.a.gye o)LJ)o M‘jm as 09&4‘50 oolaul @3‘9).‘& (.SLQUL") )‘ GoLm =
028 i cud i s U pasled e oliiwl 435 slagyle; s WOUND 51 b o dlam 4555 ol o Lo ailoslas &, a5
olo) JolS asiS loj 5l oadly jue 43S Loy b g oole addS ) adly i b oy b s oaBly CunBge aS

gl oo okl (A
If I knew her name, | would tell you. .(wls o L) o385 0 65 40 piandlo oo | ol oasl 5]

If we had had more money, we would have been able to buy a new suit.
P N EENE PYC. SN JNCIE [ JPNCE NPT P |
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shgel by

a5 (Mixed condition) asssl b, o] 4 4 wid 495 £33 L pa £55 sb B oS 5 2ald S lge s 0

D95

If I had studied harder, | would be a doctor NOW. .sos 150 Yl> pog odilys oys e 3]

(P £95 b y5) Jul5 43S (pgs g5 (o) 43S ;o ouny]
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W Qu&? _14

30 4 OMaz a3gS ol 0gd co oolatwl Lisle ol 5lwgd ploxl Jeld 5l 18 (6,50 jazd aliwg 4 alox jo Jos o5 j»

JJB.MJ‘S& aslu have 9 get J.:d 99 Ls 9 W) 6&»)%]0 Jj.ﬁ.?u 9 P}l‘“" Awd

g oo ool sl pl Glp 23 Jgesd 5l s (aseie a8 oo plowil |, Jad a5 oS sl opl 4o
5 e + get/hAVE (alox o)loj b sollas) + Jomie + Jad pouw Coond

I get/had my car washed yesterday. .augio |, sicile pols 9,0

polro oo OMos
g o0 oolawl JLisle pl slp p) s ge,d ol (astie dad oo plol 1) Jad a5 S Lisle o) jo
G5 e t have (al.> oley b @ollas) + 15 ooims plonil + 10 900 jouae + Jgria 1

I had Tom fix my cell phone. .S ,exs 1) phlge a6 pols (e

S s F Q8L (e Lo b gillae) + IS oo pll + 10 b joas + Jgnie 2

He gets his sister to do the typing.

, | had Dr. James check my eyes last month. | b &) asls= sl jl &5 (camid s e
9‘1;0 505,15 3929 alex 10 9 ;o oaias plxil) ams
|9
I got Dr. James to check my eyes last month. (el oo Sl e ) s it oyl
momoﬁb_dl,wlﬁluwhﬁ
Goo

I had my eyes checked last month. 555 o A PP 5l S8 oo Jorte g ol o3

S ((cesl s SlalS 5 )
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plos =15

G&Lo )J”Lo.»b

30,8 6)5T°l1‘. e las ol el gy (S plas b ‘5>L.~.:T &l
my, our, your, his, her, their, its : Sl glcdo
mine, ours, yours, his, hers, theirs : Sbo oo

A: Is this book mine or yours?
B: | went to the movies with a friend of mine.

0y )5 ol e s g el S b Glse o2 |y (o5 4z JLo) WHOSE 1SS
A: Whose money is this?/ Whose is this?
B: It’s mine.

B plos

myself, yourself, himself, herself, itself, yourselves, ourselves, themselves

J.M:L: é; d.l.AD- Jﬁm 9 J.Clﬁ as M_S‘SA oolazu! ‘51.9‘94 L (5«4.:&:.:‘ )JLQ.AO )l
I looked at myself in the mirror.
Please help yourselves. .ocs lpd obsss 5l L

oS oo o0liinl  wlSail ples 5 take something with ... L bring something with ... 5l ax 1 4
It might rain. I’ll take an umbrella with me (not with myself).

9] ood oSl e 35 CONCENtrate/feel/relax/meet Jlul 5l ox 2 4

You have to try and concentrate.
What time should we meet? §.cs <l |, Soes adge ax

105 15 oo 095 4 KLY me g o a3Lil  wlSail ples w0 DY adlol B> 8413w
I went on vacation by myself. .5, o3las 4 L pog>

-Was she with her friend?
-No, she was by herself.

g8 oo pu «ng_;t" pleod Ll o Lo uedds g co ooliiul vo oSk &lp Sl ples 14 @S
| repaired my bicycle myself. .po,5 joass | plas 290 pog>

I’m not going to do it for you. You can do it yourself.
A friend of mine is getting married.
Michael had an argument with a neighbor of his.
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That woman over there is a friend of my sister’s. .col s alss liwgs 51 (o o5 o

Vicky and George would like to have their own house.
(050 oS L g plos,S o )lol S 51 T &€l (o o asd a5 slasls» iy MY OWN NOUSE o 55 o 555)

It’s my own fault that | don’t have any money.

oS oo 0Ll OWN 5l 55 0t o plomil ylodgs 1) (65 0 550 aublgs oo 45 B9 1D i
Bill usually cuts his own hair.

& Jiius y5bo 49 sy .. 5 ON YOUr OWN L, ON MY OWN & Le 6 i

Are your children living on their own? $uus’ o So55 St Lad o)las;,8 LT

\ (elfla) Sl 3 oS o

5505 1 WIth adlol G, b 038, )15 4 o5l asl (o5 > aleax Lol Ju3 S
il o € oleis 4 slixe 4 DY @ilol > b | en
(by myself, by yourself, ...)

myself, yourself, himself, ....
, themselves

" Sroge ylewd

oM 2 e 6,50 Sk by pled sl WS oo 6Tl T LSS )y wiii oo el bz & 65 aies LIS

sl oo € Jooge ol a1 il 5, ol jleailgo o2 @ Aoz 99 03,5 Jate (1 5 i)l
who, whom, which, what, that, where, when, why
1. Ali found the missing kid.

2. Ali wore a blue shirt. }>
Ali who wore a blue shirt found the missing kid.

O PRV wlaf (515"45‘ )Jl.o.«é af)Uija)l5¢me~M¢‘uL5M)l )A‘)fu...:z.s26 O)Lo..'f.n ).)*
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ol <y 4o (Jgrosn solavd

Q)L’.C J°

S o
(s1edsS »29)

CHE N PR e aly aly aly aly
Pronouns whom oL > ab ab ab
ylod) which Ellgs Lo al, al, ol als
(Jyoge that Lol cbilges oL o o o o
whose bbbl dec.sle ol ol ol aly
Nominal
& e Ll
pronoun what o ol ol als >
; (a5 a4zl slins )
(w‘ D) >
Adverbs where o al, al al al
o) when obe; ab ol ol ol
(g why ey s L L L L
g ood oolitul What 3 WHOSE (sl> a0 Jg 9,5 )3 oo Jgoge 59.8 sl> 4 wilys o that
3,10 ozl WhOM 4, WhO 0 50 )15 a0 Ll 5 )ls Sl Jgmie i WHOM &S 1 L .
Pl
85,15 1y adlal By S 5l e ooliinl ojl>l that s WNO Jgwoge ples
el ol yor dlog, ST L g 045 oz ¢ JoS g b Yoeno Jou ")}“))i@
A Jo (b3 OMez ;0 0dl astine 3)lge
Don't leave your shoes there, or my dog, Ollie, will munch them.
Dr Pat, the creator of the turnip brew, sold 8 barrels on the first day.
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Jeb g Joé sl -16
g Jxd 0gg L iasS S 1) aisS 90 ol o)lged ol pln orsl ansly Jeld g Jad b laales aon a5 anil atils a>g5 -
Jebb g ot oo (Sinlon 2 Jelb

Cars were backed up for miles on the freeway.

His money helps him in his life.

)d ! w)f)ljs J;)Jﬁgouujw‘ JC[BAJ&}‘) 69[.0‘ WdeAJT‘SA J&..: s_i.! J.CLQ c‘fo.b ulﬂ5‘ ‘_qmlf 1 855
oo b OMax ol o b Jelb aseid 0gd el oloul dlex o ASin da 55 g S5l Dyl Bas L olge )]

Dr Jackson, accompanied by his friend, is working on this project.

Dgd oo ;S alaz dalsl yo S ol i Jeld a anly Jelb IS el there L it Ll Jeld a5 odes j0 2 4G
There was once a king.
There are many people in this room.

cul Sawe «@ll, most, some, half + of the + object) a_zb Jlais , Jls a5 el S)le Jelb a5 =343 a5
ogdazg Tl Jab Bl 4 Wb 5005 gaz b 35ke Jab

All (of the book) was interesting. s,ae Jas 5 5,40 Jelé

All (of the books) were interesting. go> Jxé 5 go> Jelbb

All (of the information) was interesting. s,ae Jxé b g o,led JolB e Jelé

g oo ooliiwl O yhe el g camlin J2b 5l ples (pl Lol e wdiind gox dex 5 50 ppen pled ax 14 S
Anyone, everyone,someone, everybody, something, somebody, no one, what, nothing,
whatever, neither, either, ...

Either of these houses is empty.
Anyone who wants to pass the exam should study hard.
alox Jad 4y a5 Lol g5 L e w4 NEIther ... nor L either ... or cuS 5L Jebb g0 a5 olKin 5 a5

QS oo cdillas T Jad g ool Cgaome indi> el wonl 5003
Neither Ali nor his borthers are here.
Neither his borthers nor Ali is here.

@ 5 LT 5l am Jxd g ool g 3500 &l 45 Lel gl oo @35 S 4 5 s o Lalls ax ST bl 55 6 xS
aiile 09, 00 HIS 4 0,80 D90
Politics, Economics, Ethics, Physics, News, Diabetes, the United Nations, the Philippines, ...

Economics is not my favorite subject of interest.
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il ansls cdllas b 08,5 cop ] 44T ol b olows g Cancir Blod 4 e 0,150

At the start of the program each student needs to see his behavior about his schedule.
Their house was small but Jones family lived there happily.

igyisn SIS 4 ke Jab b Vgoma caliald 5 o sz & bogrye slo e 1 i
Eight hours of sleep is enough.
Ten dollars is too much to pay.
Five thousands miles is too far to travel.

Alid oz &ly 50 Lol witus 8,40 ,alls 0 4> STCattle 5 police people usle slopwl 2 4SS

The people are form Canada.
The police have arrived.
The cattle are grazing.
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Bl BBl g b jlosis BB ooliol -18
45 atn 2l Ghleds S Lol
S ye | Ll olgise 1
apple, pen, radio, book, picture, egg, bottle
oz Do o g Wi 415,55 4 05ke 50 4y o 2

a car, many cars
a book, three books, some books

S e AN LA Gy s By e S 403

a pen, an egg, an umbrella

e ) LT il e 1
rice, coffee, candy. milk, water, salt, money, music, tennis, fruit, perfume

.xs)d)U@o;AAJ&Z@w.Z

il gl b o ST sl 5 L S o o S wa@N LA L Ll oles aei 0500 IS 103
We had such nice weather during the picnic. (not such a nice weather)

a piece of, a pack of, a glass of, ..ix.s sS0me, any, no, a lot of ,... sl SIS LI, Ll ouily o 4

a glass of water, a bottle of perfume, , a piece of advice, a pack of sugar (not two sugar or some
sugars), ...

alS pogia 4 g ols I8 eoliiul o)50 Shleds BBt m g (b)led LB USS @ pe Glice 1) Lol 51 (sl 1 iSG
S50 LT 51 6 lade b wgd atsg 51 Jg el i Lo BB il JolS &g 4y 51 o138 slge Sl s (K alox 1o

Sl leds BB el i
Look! The bakery has some nice cakes. (_z,les L)

Would you like a piece of cake? (s ks J5,.¢)

(g oo wgmarte byled BB K0 slacl 4o wakiwa (bl B é Voeme cwcdSSl b 0 aS lagal 51 cam 2 4SS
advice, bread, furniture, luggage, progress, weather, baggage, chaos, news, luck, scenery,
work, behavior, damage, permission, traffic, information, trouble, homework, money, ...

el (o )leds JB (55 BT sline ,o WOTK piiomen ol 3yl B JOD Lol el 3 )les b e WOTK 3 G

I'm looking for work or I’m looking for a job.
Works of Picasso
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o b o el 1 b boansliis =19

S e aseiie |y gasl SV Sy0 by e by sl g 03y s 3 el 51 U bbanslis

any ¢ some

109 o0 ooliwl o3 3,4l90 4o SOME I

139550 )5 42 (3,80) (Lo JB ot lapal b oo g (202) (B)led B (oolul L oo €5 )lado golani? (slins &0 -
I need some money.

oS oo 0Lt SOME 51 sl anils lolis (oS 5L g 0utS B)las (oo & (S by o g -
Would you like some coffee?
Can | have some soup, please?

I have got some work to do.
Why do you have a stomachache? Did you eat some bad food?

109w o0 oolaiwl 3 3,190 yo ANY ;I
oS oo oolainl Jlsuw 9 s ez o ANY 5l -
There aren’t any books in the bookstore.
Is there any cheese in the refrigerator?

oS oo ookl ANY 5155 s ls aie slixe a5 Slie OMes o -
She went out without any money.
He refused to eat anything.
Hardly anybody passed the examination.

oS oo ooliwl @ANY/aNything/anybody ;i s’ o (3,5 sl o 650 pedles oo a5 Sloj -
I’m so hungry, | could eat anything.
The exam was very easy. Anybody could have passed.

Oygo cpl o aS il o slae 4, ANY a5 (60 )lse 10 ;Ko 39, 0 L5 @ gez O jge 4 ANY 5law kel BB gl -
RCOW ISV PR I IRV DNy N E oW

There aren’t any students in the class.

You can answer any question about math.

(b aloz G 3l b Cand 0 Jy) oS 0 oslal@ny if 3 e gl el -

Let me know if you need anything.
ol if potde ANY D (& y0 -
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I’m sorry for any trouble I’ve caused. (= if | cause mistake.)

139, L 4 el ey Wiles e ANY g SOME -

I didn’t take any pictures, but any took some.
You can have some coffee, but I didn’t want any.

a lot of, lots of, plenty , many, much

a 1ot Of a5 el ool LT gl Leis i ylas 3,8 o0 L €gob; jladie b slaws» sline 4 lOtS OF 5@ lot OF sl -

Bgys0 1 4 (3,80) ()led Jlre slapul b e g (2o2) (hyled B (oolul b oo laaslid cpl .ol 5 com,
We need a lot of/lots of eggs for this cake.

o5 12 a5 Sglis ol b esylo @ 10t OF 5 10tS OF wisle (60 5,15 €0l Jlais g slaw® (sline 4 55 pPlenty « bz -

oS oo o0litl awlid ol 5l e oS iz olaws b e 09 9> 3l i 5 09 oL eedlsso
There’s no need to hurry. We’ve got plenty of time. (.o <dg ol cons alxe 4 s;5L3)

al) i oo ooliuimuch g many ;i Jls—w 5 e <Mox o s lot offlots of 5l coce o s o Yoona -

('&j)‘s‘ )lS EY Sl QiM ) L)L’) o ) uy-v o QSQL?
There was too much sugar in my tea.

S 4 (000) Gajlos BB b (oll L (ol 5lae) MUCH 5 (paz) Gijloss (BB (ol L (g0l olass) MaNY -

9950
I khow a lot of people here.
I don’t know many people here.
I don’t have much energy these days.

A: Do you watch TV much?
B: Yes, a lot.

a little, a few

Lol el o5 ot a5 amo oo lias | (s lade @ little T o (3 et BBt slapul L Laid (o5 <5, l0i0) @ little -

s B 5L &, sl 5 el o5 (L a5 was e yLas | (s M (e Lo, oo8) little 5 el 315 5Ls &3, ol
Sl e b little 5 cose il a little &3ly 5o

A: Can we eat dinner before the train leaves?

B: Yes, we can. We have a little time. (.ol S 950 ;b a5 cpl sy oo ,ls <3y (o5)

A: Can we eat dinner before the train leaves?
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B: No, we can’t. We have little time. (.o ,550 ,lab a5 pl 6l 02l o5 Sy b ol <)

3, e b (ed Loi) FoW 5 oo cdl> @ fow o7 o 5 ke LB soll b daid (5w «solows) @ few -

enough

999500, 4 (0,80) Lo)led BB ué g (rez) iylemis BB ol 51 L3 (B laie L olaws) €NOUGH aulis -
Ll Cio glixe glylo

They have enough workers but they haven’t enough time.

9000 083 55 4 35 Gl 4 g el oy uizmen ENOUGH -
I’ve got some money, but not enough to buy a car.

1] oo v A8 g Sdo 5l aw €NOUGh -

Can you hear the radio? Is it loud enough for you?

ol aelsl joae S L) dlax lgi oo w9y 00 45 4 o b ol b enough s Sl -

There aren’t enough chairs for everybody to sit down.

too

Syl i olixe )b g 09, 00 )15 4 0B b o 5l L8 (0L (LS w5l i) slixe 4100 sl -
I think you work too hard.

2,8 4100 5 L3 1, SldS ol o100 51 o S 0l g o5 sy -

much too, a lot too, a little too, a bit too, rather too, ...

t00 5 T oo iyleds BB ,ué slapal (sl 100 MUCh Js caiswn «ob; Ls» xe 4100 Many 4too much -
D9, )5 s o 51 LS Wil o5 100 MUCH (pioman o 3 )leis BB slapel sl MANY

Emily studies all the time. | think she studies too much.

There is too much rain. .s,b o ol L3 o)L

There are too many people here.
It’s too expensive. (not it’s too much expensive)

-09)‘5‘)544.)m&e.9~\¢§b.m&1elﬁm@too’yw-

The food was too hot to eat. .o, |, o) i o 45 09 §ls yad0] 132

3,5 ool pal b Jgrie pos G o TOF a8l G 1> 5l ccio 9100 5l am olgs o Cuizmon -
These shoes are t00 big for me. s 5,5 L o sl b ias oyl
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She speaks too fast for me to understand. .vei |, (iolacs ;> wles cod (o 45 A oo By a5 jais]

Lol €a 51 i slire 4100 ¢ € L5» slixe 4 VEIY (s> sl Sglizte VEIY 5100 0,515 -

It was very cold but we went out.
It was too cold, so we didn’t go out.

all

055058 IS & (0500) Gijlods BB 1 55 5 (a2) Ghlosd BB golol 51 13 Caoan ine 0 @l -
All flowers need water.
Life is all hope.

o5 a5 oae b g that, these, his, my, the, ... sl ;50 anlis oy e all 5 om -

All my shirts are black.
All four men are experienced workers.

o,5 adlsl all BURTTR of aslsl S olgi oo DYl o
All of my shirts are black.

w sae 5l 3 (the, these, ...) Koo aulis G wb OF 5l sslil plfin 4 ail azd, IS 4 sae o ool 5l L3 51 -
.ds))ls

All of the four men are experienced workers.

we all = all of us

T oe (S Jxd sl 5l d Caimed 5 DB Jad 5l o Voo @l -
We are all going to Italy next month. .cs, walys LI 4 san] ol Ls 4en

You should all do your homework by yourselves. .s.as plxl ol a1y Hadls wb L acs

gy 5 4 SeS ab 5l s all st ol a5 -
You all should do your homework by yourselves.

w5 oo oslizatnot all (of) sl jlall b ace o> o3l gl -

Not all my friends were at the party. (wog sl 5l can) wsgs slege ;8 piliwgs 4en
e S & ks o) all s

S oo oolainl po €z Lpis» sline 4 all BURSSCON-I
All I’ve eaten today is a sandwich.
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whole

109)‘54’ )lf L ;)J.ﬁ.o 6[.2[@&.:‘ L: M.LC‘ 9 Sl ((PLA: dod ‘J.GLY» LQL.\AA 4 Wh0|e -
all day = the whole day (;s, pL)
Did you read the whole book?

s B 4 iled LB, sl L, whole 4

I’ve spent all the money you gave me. (whole money .5 )

most

Sl cpl 500900 ,5 @ 0y i )le i LB 8 50 g mem Liyled B elwl 5l L3« déh slixe 4, MOSE -

S (50 oo (A5 D90 4 g painl a9 )90
Most people prefer health to wealth.
Most teachers are kind and patient.

oS oo oolail awlils S adlsl 4, most Of)'l oS Lo padttie > O,0 0 pedlesu ST LI -
Most of the people in this town are educated.

There are about fifty books in the bookcase. Most are biograghies.

half

9y 5 & oz b 30wl 31 51 a9 sueT @/AN L the L Ygese (s o) sow) slins 4 hallf -

Half the money = half of the money
Half an hour

R PR e half 3 ds of 31 oolauwl uSS

no

99050 5 4 (0,0) Ghjlads BB 18 55 g () Ghyleds BB ol 5l 8 €e? glias 4, NO -
QLS oo e |y alax lie 5 an] o cute SDex 0 (NOthING, NOWhere) isliiis g asls oyl -
There are no students in the class.
2,5 solaiul i1y oo slaanliss sam le e NO o -
We have N0 more eggs. .o ,la £ p55 ;500
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none

g 0,00 dlax a8 (il (0,80) 5l BB 2 —ulNONE Of)'lax_})f\ wT‘SAOfLsysw (z2) sl 4, NONE -
sy Syha Jab 3l ooliiwl Lol .ol 0580 b gz g3 oo J28 wulo (pez) (i los B ol NONE OF 5l ony 31

395005 )5 1 L5 o5 s NO Lol 358 oo solitul ol 4 NONE 51 Ygans Sl & by o -
How much money do you have? None = (no money)

both

)Lfd.:ua;:.ws&b;‘fw 50 0)9*)0%96‘)%5&%15‘&6?&)@ J.»ls ‘Sal.»..:‘l.g\]a.a.é«jd)!b» 6L4nmboth -

ol oz adion ol b s )0
Rosemary has two children. Both are married.
Both girls=both the girls=both of the girls

s 652 Lol ez ), DOt OF 5 ool -

Both my parents are from Iran.

el 5,90 "them/you/us™ 51 Ls both 1, Of 0,6l 1S
Tiffany has two sisters. Both of them are married

9,00 5 4 psboth ..o and ... cs 5 s both -
Both Sara and Jane were late.

29, )5 4 ol 4 wlg . both -
I don’t know which car to choose. | like both.

either, neither

90 b e 98 5l o (gl Laid €40 5l SO g sline 4 NBILHEr 4 €U g0 51 S5 g0 51 o o sLias 4 €ther -
Lgye0 ) & e
o oz Wl go Jab a5 OF sl oolinal 50 50 K)ol 050 53 alaz Jad 5 aligo 05k0 (hlods (BB ol b Laii -
(2
Either answer is correct. .col cu s Glg> 90,2

Neither answer is COIrect. .cus cusys Olg> g0 5l plaS s

Would you like tea or coffee? You can have either.
g3 1y T L cnl aslgie Lo Soged b wyls e sl
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: Do you want to go to the movies or the theater?
: Neither. | want to stay home.

: Do you want to go to the movies or the theater?
: Either, it doesn’t matter. ..’ o 5,8 wlp ol b ol

W > WP

: Would you like tea or coffee?
. | don’t want either. (neither 5% .1, o & peslys o 1y ol &

@ >

: Would you like tea or coffee?
: Neither. (= not tea or coffee) olas’ zo

@ >

the ,these, my ... sl awlis <G wb OF 5l aw <l (ol )0 048 0 ooliul 5.5 OF ;i neither g either ;o -
el gz ol g 502,

both of/neither of/either of + the/these/my/Tom’s/you/them ...

Either of these answers. (Cls> 9o op! 51 s ,»)

Can either of you speak Spanish?

o sleolanul as asly ails bl b ol b o,S oolaiwl (g5 oo 9500 Jad 5l 00 g gz Jod 3l oo > () j0 1SS
O, gy A Yw Slan cpl 4o 0,40

Neither of these answers are/is correct.

Neither of the restaurants we went was/ were expensive.
Neither restaurant is expensive.

Ng,e0 55 @ s neither ... nor ... geither ... or ... sls,tsL. o neither g either -
I’m not sure. He’s either Spanish or Italian. . sl .1 b g ool olsbosl b qeiacs iolas

Neither Liz nor Robin came to the party. . .ol, 4 g asl Slage 4 3 4

each

ool 0500 55 3] 5l d J2b g 09,00 S a3k ke BB psl 1 B €alaS o (a0 sliae 4 €ACH -
Each room has a private bath. .s ls ogas sl G U1 ,o

89,00 ,5 4 s 0f Leach -

Each of the rooms has a private bath. .s,ls _ogas sla> lagll 5l plas 4a

g oo 03litul gax Jad 5l e pl 1039, 5 @ 15 gez e b el SO 5l o wilgs s €ACH -
We each have our own room. .. )ls |, 555 361 plas™ , L

D9y, 4 1 ol 4 wiled oo each -
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95050 )5 4 BVETY (il ol olawy £34 g @S o0 ool each 3l o 5529, 0,L50 890 gl (oS olawi 4y S8 -
Each chair in the room, Every country in the world, ...

every

el 3580 55 o1 5o Jad g aul oo 0y8e (yb)leds BB pul b ddiads 5 ol 800 (glalS Kaon 29 slixo 4 EVETY -

il pesl ol yo b dlian g 99, 45 4 L wilgs o3 EVETY -
Alice has been to every country in Europe.
Every house on the street = all the houses on the street
Every house in the street is the same.

5ham cdél Ll wanl e 0yae Jud Loy sies 9,40 oS s everything 4 everybody everyone -
1w o ooliwl their/them/they ;1 everybody/everyone

Everybody said they enjoyed themselves. (he or she enjoyed himself or herself)
Al Gy (Slogs j) 45 25 (S y0) aon

aSb oS oo oozl Al 51 el €Ol Bl S5 So» €S a0 lejglite 4T ded awsSo peblyt o SBg 1l 4SS
‘w0 mse L @ |, everyone L everybody

Everybody enjoyed the party.

,8 @ 1 all of us/you/them... asly oiS' o oolanal VErYDOdY OF... 5l €l aee? 0 65 putlys o (892 4SS

2Rt
All of us enjoyed the party.

every every Night .l cuxog ol ool €9, acad e o all day Ll 5, ,a» slias 4 eVEryday :3
et 35 .. g All summer all right ... 3 sSummer

It raind everyday last week.
Yesterday, it raind all day.

BVErything ;i se g oS ooliwl All 5l oo oilgs co SBsl iam 4 @i
I’ll do all I can to help.
I’ll do everything I can to help.

U PR e all &ly of 3 ool puzen 5w

| don’t want any of this money.
Some of these books are very old.
All the students in our class passed the exam.
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:‘;15 )9b 4%‘:’
oS oo 00liiwl ) S 5 5l aries Ll Chlbre glp g Aijls pols s a5 bl 1y -
most
some the
+ of + | this/that/these/those
any my/your/
none yryourt...
oS 5 89y ) oacld 5l o ls ‘_JS FRTELY ‘SAL.,\ &l -
all
most cities
some + children
any books
no

all of/some of/none of/... + it/us/you/them oo -

A: Do you like this music?
B: Some of it, not all of it.

other, another, each other, one

ol (ppme e 09 a8Lol te a5 &> T 51 L8 31 .l OLhErS (] se> €5, 500 slias 4 Other -
Asbestos protects other materials from fire. .S o cladbxe 15T plp 50 500 olge 5 jems 4ty
One type of asbestos is dangerous, the other type isn't dangerous.
s Sbyhas 1 500 g9 cnr Sbylas j0us 4y g5 S0

g o aBlol Ly a5 By T 51 LB 509, 00 5 w000 i yleds BB ol b g« S ] (5,500 sliae & another -

We need to find another way.. xS lag (55290 oly » ogdle) (5,500 o, b s

oolitul gox (solul sl 4 ONBS iny T gozr o0 950 (5 5leds JB sl b €S0 T ¢ 5o oo (slins 4, ONE -
D9 50
The ones you love hurt you the most.
S ygo By g0 5l blite O ygo a4 )5 4 09, 0 IS By PMasl g ol ol €0 slias 4 €ACH Other -
sl 4§

We've known each other for some years now.
My wife and | have lived with each other for 1 year.

109 o0 oolizul aCh Other s> 4 4o ONe another ;.
How long have you and Bill known one another?
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SO

ool €Laly o L5» sliae 44 015 SO -
The story was so stupid. (= really stupid)
MLS‘SA <<)¢.E_;_ll ‘)ojﬂ» LgL\.gn B QSQL? 9

I didn’t expect the exam to be S0 easy. .ol Lol jusst el pslas Ll

B glias ;080 Wil aid, 5 & ke that 5las o sl SO + adj/adv + that clause ,tsL. ,5S0 31 -

oS BA> ailgi o i |, thAL AadS a5l (reds 090 dlgs €5 a8 4
I was so tired (that) | fell asleep in the armchair.

such

2,10 1,80 sline lad g 0iS o Cughi |y Chho ne SO isle § 09, 00 HIS 4 gl b o 31 LB SUCH -
It was such a stupid story.

8 b 2o SUCH 5l o sl (51 g 008 oo oozl @/AN 5ISUCH 5 am ol (3 )Lleis BB g 0,40 SUCH 31 o sl [51 -
g o oolizwl /AN 3l asl (bles LB

| didn’t realize it was such an old house.

il a3, |5 4 ke that jloe w «wabsuch + (a/an) + adj + noun + that clause ,tsL. ,ssuch 31 -
oS DA wilgi o i |, T aelS aS) e 09 dalys €yl (puiz® sline ;o SUCH
It was such nice weather (that) we spent the whole day at the beach.
w38 Jolo o) 59, U5 &5 39 (29> Slee b

Wigyeo , wolawi b jlade g Cdle (yloj oy glp pols Olile jo such 9SO -
so long = such a long time Lo
so far = such a long way g jussl
so many = such a lot of b ,ul
so much = such a lot of b el

Why did you buy such a lot of (so much) food?
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98 b edis sl 51 S8 (sLodwlid gudyres

o).g)lS
Do by e S5l 1
i sbae b cute Olex> 2
byt dlaz Sy | by s 3
€plaS oS sod (3,9 line il byd 4y cute alex 4

(5,0) Gojlod Jyet slopal b o2 5 (202) S2)lods LB olul 5
Syie o1 5l am o yleds BB gl coisl €00 lixe 4 ANY S (390 ,0.6

395 )5 & sl g0 W5 o 7

any

G 9 Cate SHlax 1

R JNPS GOV PR FRPCO I CV1) JCOVC S PP PRI ON S9N Sl A AP IR || R P
solil ol 4 Lolis |y slgic, .3

(3520) (o lods blByet slopal b 5 (o) Lijlods L6 ol b 4

39, 5 & sl 9 Wlg o0 D

some

ol u)Lo.> 5o 1

(5,0) Gojlod Jyet slopal b o2 5 (202) G2)lods LB ol 2

a lot of

Codie Sos> o 1
(5,20) Sojlads Jlyee slapmsl b g (g0z) olots BB bl s 2

lots of

Gz Saws b lade 390 9 5l i oSG L
(2,20) (tslads LBy slopasl L 5 (@02) (2jleds BB bl 1.2

plenty

Ls_H;;,.A, 5 s Moz o 1
(5,20) ol JlByeé slagpesl 2

39 5 4y sl (y9 Kil3 0.3

much

(mez) oojloss LB ol 2

many

Coe 2> 1
Gt BB goluod 2

a few

Sl > 1
u*’)LM’ J’br‘ us‘L“’l 2

a little

b g S jlam 1
(0,0) iyleds BB e g (pez) (oyleds BB ol 2
9, 55 4 el 0y Wilgy oo 3

08 g S lam 4

enough

NS
)»AAA;SJB.,\JL:M ASJO‘).@AJZ

ol b Jonie o s TOF 5 joae G g o Sy olyen 4.3

too
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o glas a1

yhe b ol 3l b g 0500 i jladd BB el b el 0500 .2
2,10 o,Lal acgazo b 0,5 4.3

818 oz )| €ACH @ sl ol o,Lal 350 eul Slaws 89 .4
3l ol S ol o il Loz w09, 5 sl 4 Wlg e D

every

€ gliao 4 1

3yhe Jab g 05h0 ijlads LB ol .2

I8 gz | BVBIY & sl o 0,)L3 550 sl Sl 2853
098 005 )l 4y sl b (oly0m (50 5 (2l 4 Wi 4
é”Jﬁﬁévwa|)|m5

each

258 o )8 el sl 401
(ploS g (S @) oyl e sliss 2
Beyee 4 5 ks 43

none

gz hjlad BB polol b Laid €50 09 (sline 4,1

Byt 5 @ 5 lets 403
both of + the/these/my/Tom’s/you/them ... 4

both

(2520) Gyl BB a2 525 5 (o) Ubjled BB (ol 51 L3 €y (slino 41

95 SR g.s"L(’r“’ Y 3

no

(8,80) iylodds JiB1d slapul b o0 g (o) (oyleis BB colol €anad xo ol
sae b 4 that, these, his, my, the, ... ¢ .» « all of .2

el ples 5law 3

Jad el 3l ans crizman 5 DR b 5l a4

SwS Jad 5l L all st 1.5

not all (of) : ixe cJ> 6

Sgys0 5 & @l 7

Gz L Lo 4 8

all

S yhe Glapl b el 5 ol €ples ot ¢ JolS» (sline 5.1

s B 4 Giled B slaeal 2

whole

3yhe Ghjlads BB yf 5 g mezr Ghjlads LB (alol 51 LS €deh sline 4y 1
MOSt Of _asie o 9,90 ;0.2
gyt o @ 5 lets 4.3

most

@?gapwldelwgouTa/ancheg@w(@d‘jlw)‘_;b.og.l
el 6 kel half 51 o OF 5l eslinnl 2

half

S b 5l (S bl 6l 1

Syhe 503 o1 5l Jod g 900 (3yleds LB el ;2

((;S_.,. R L:jé )‘ LSi'i» dLa._xA Le) 3

either of + the/these/my/Tom’s/you/them ... 4

either
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S G g 5l S e 0,55 Dbl sl 1

Syio 323 1 5l g Job g 050 hjlads LB el b 2

Qb g0 5l SO et slire 4.3

neither of + the/these/my/Tom’s/you/them ... .4

neither

€5 S sline 1
others ] o> .2 other

b o pare e 09 adlsl the ca as &> Lol 51 L3 31.2

€Sy ol s lixs 401
39y 0 ) 4 0yhe hyleds BB olul sl 2 another

€S o e (o o So» glime a1
2950 5 4 8k Ghyleds BB el sl 4,2 one
g a ooliinl gaz solul gl 4 a5 w0 ONES ] go .3

WL cas )l s
«ain] assh «’L,élg (P Glixe 4.2 o)
so + adj/adv + that clause .3

ool b o 5l 31

such + (a/an) + adj + noun + that clause .2 such

by 1D Sy gaint Ly
9 OiyST Coad yius
Ol—sclUbl o L3
e )5 9—a3T
Lod ¢Jpag) dy A
MasterTest.ir Ad Anlgs ¢Jlw))

Ghenl yheng 4aphki poid )3 Gkl Guis
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> EXxercises
Questions

1. A desert receives less than twenty-five .......... of rainfall everyday.
A. centimeter

B. a centimeter

C. centimeters

D. of centimeters

2. ..c.cun..... 0f 212 degrees F. and freezes at 32 degrees F.
a. Waters boils

B. The waters boils

C. Water boils

D. Waters boil

3. Itis generally believed that an M.B.A degree is good preparation for a careerin .... .
A. a business

B. business

C. businesses

D. one business

4. Fire-resistant materials are used to regard ........... of modern aircraft in case of
accidents.

A. a damage to the passengers cabin

B. that damage to the passenger cabin

C. damage to the passenger cabin

D. passenger’s cabin damage

5. Hybrids have one more ........... per plant than other varieties.
A. corns

B. ear of corn

C. corn ears

D. corn’s ears

6. ........... trees is a custom that many people engage in to celebrate Arbor Day.
A. The plant

B. Plant

C. Planting

D. To planting
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7. .......... migrate long distances is well documented.
A. That is bird

B. That birds

C. Birds that

D. It is that birds

8. In 1950 it was naively predicted that eight or ten computer would be sufficient to handle
A B C D
all of the scientific and business needs in the United States.

9. The religion attempts to clarify mankind’s relationship with a superhuman power.
A B C D

10. A space is the last frontier for man to conquer.
A B C D

11. A progress has been made toward finding a cure for AIDS.
A B C D

12. A few tiles on Skylab were the only equipments that failed to perform well in outer
A B C D
space.

13. Spell correctly is easy with the aid of a number of word processing programs for
A B C

personal computers.
D

14. That it is the moon influences only one kind of tide is not generally known.
A B C D

ARSWErs
C

OO WO

.B

. C (eight or ten computers)
. A (religion)

10. A (space)

11. A (progress)

12. C (pieces of equipment)
13. A (Spelling or To spell)
14. A (it is should be omitted)

© PN O A ®N
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&5 0 INQ L 10 a5 Jledl =20

w1 oo ANFINTEIVE) soles Jad + 10 & jg0 4y ) Jladl 51 am Jud -

Agree Forget Prefer
Appear Hesitate Propose
Arrange Hope Pretend
Ask Intend Promise
Advise Insist Refuse
Claim Learn Seem
Consent Manage Suggest
Decide Mean Tend
Demand Need Threaten
Deserve Offer Urge
Expect Plan Wait
Fail Prepare Want

- I intend to inform you that we cannot approve your application.

:J.J‘SA (ing + oslu J23) joas pul Ojgo 4y g el 5laey Jed -

Admit Forbid

Appreciate Forgive Recommend
Avoid Keep Regard
Complete Mention Regret
Consider Mind Resist
Delay Miss Risk

Deny Postpone Stop
Discuss Practice Suggest
Enjoy Prevent Tolerate
Escape Quit Understand
Finish Recall

- | miss watching the news when I am traveling.

reils pplys s ING. Jab 5 ,ls adlol > a8 5 Jladl assle el 51 o -

Approve of Forget about Object to
Be better of Get through Think about
Can’t/Couldn’t/Wouldn’t help  Insist on Think of
Count on Keep on Depend on
Do not mind Look forward to

- We can't help wondering why she left.
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> EXxercises
Questions

1. One of the least effective ways of storing information is learning ......... it.
A. how repeat

B. repeating

C. to repeat

D. repeat

2. Strauss finished .......... two of his published compositions before his tenth birthday.
A. written

B. write

C. to write

D. writing

3. Many modern architects insist on ........ materials native to the region that will blend
into the surrounding landscape.

A. use

B. to use

C. the use

D. using

4. Representative democracy seemed evolve simultaneously during the eighteenth and
A B C
nineteenth centuries in Britain, Europe and the United States.
D

5. Many people have stopped to smoke because they are afraid that it may be harmful to
A B C D
their health.

6. During Jackson’s administration, those who did not approve of permit common people
A B
in the White House were shocked by the president’s insistence that they be invited into
C D
the mansion.

Answers
1.C
2.D
3.D
4. A
5 B
6.B
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Cuino =21
Dy oo el S 095 o0 03,551 )] Bagoge j Ui o owadSSl 5l 0 A5 o g | ol 45 el SlalS o -
il bd Djyg0 d (cmedSSl L5 0 baciie o 5ol aily Che sz b SO
alanithe Gy x5 Gg,> 1
good/nice/bad/ugly/... :ccas Sk slocio 2
ling/tall/short/... :;lal Sbs slacis 3
old/young/... : e Sl slocas 4
round/circular/... : <& Sils slaciis 5
blue/green/... : %, Sils slacis 6
heavy/light/... : ;5 S5l slacas 7
Iranian/French/... :cols Silo slocian 8

wooden/silk/... : > Sy slocas 9

S ool o 5l ol e Jl 5l i S

This food tastes delicious.
The children feel happy.
The weather became cold.

‘539&6.0 9 GLclé LgUbC/.é..a

il Cho (g 0 D jge 90 4 Jad At 3l -
INg ;o5 aslal by eld o 1

Ali is shocked because the film is shocking. .ol cauSaSss ohd ez ol ooy aS9s e

sad g Jle sbess

D950 8 @ ol olaws 51 S 0,8 s sl e Cho g Glees S 90 anglie Gl easi cho -
In my opinion, the most beautiful place in Oregon is Mount Hood.
The afternoon seminar was much more interesting than the morning lecture

o 0] oo oy (M G 51 iaw 1)) (SYsb Cibo 4 MOTE g oligS Cubo 0 BF ol adlal 5 Loads ciws -

Bl or Gy SYgb Cbo 4 MOSE § oS Cudo 4 St ass adlal 51 Jle
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00,5 alol b g Load cio 4 B (48,8 4lol b ,ied o o €F LY LY ,0W Jle & a5 M g0 clan ]l asS
Ngd oo Jos Jle cao 4 eS8t

narrow —s narrower
clever —» the cleverest

‘Mcsf By il olas B> ‘|A_.a‘53 df)‘&dijg-w‘snwb—w@ szpﬁ‘ﬁb&u)o 2 4SS

D ge S5
fat — fatter
big —» the biggest

g oo a8l LT sloil 4y SEL T i wigd oo v € 0 a5 glaciis 3 axss

late —» later
nice —» the nicest

heais cas + than

the + Jlk caws + in/ of/ that

She always tries to do the best and most efficient job that she can do.

The quarterback on this year’s football team is more versatile than the quarterback on last
year’s team.

Fashions this year are shorter and more colorful than they were last year.

! od.n] 2y e cJ..ClS‘S: GLQM u.:).:b).:)ls).: )‘ ‘57-).) SSJLC 9 M 6[&;«&0 =

adjective comparetive superlative
bad worse the worst
good better the best
far farther the farthest
further the furthest
little less the least
many more the most
much

Gelao Luass gbcawos

el 4zl S0l pgo o g e Silo Jol Cto iy oo )5 s o ol jon  Loasi Cho g0 8y -

The + er / more + (same structure), the + er / more + (same structure)

- The more you study during the semester, the less you have to study the week before exams.
- The louder he shouted, the less he convinced anyone.
- The more you practice speaking, the better you will do it.
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s =22

Y 5,5 LI L Logas Sl (L5 50 boagd S o osi |y o (Sis5 5 S e e ae 5 ol g5 0

g oo i Lo o 4

o] J.n) 0)‘9A J.aL.u u)Lo-> )Q A.~.9 LgLQO)J)lS -
Jxd Caogs 1
He runs quickly. .sgs o iy @
NI

. o . . 54‘ 2

I’m extremely happy. .cive Jwsss o oy

M&o‘M¢M|M§3

A well designed table

S0l bad cnl 5l S iyl ol gl Boee g 0igy im0 ) 4 dlon Loy 4o baad 5 i
usually, often, always, seldom, sometimes, already, finally, just, probably, never, ever, ...
ool aLidS 9 Jl> 5 L3 1
Ali always comes late.
be s 5l o 2
Ali is always on time.
hol Jab 5 (S Jab 0 3
Does Ali always come on time?
We can always go to everywhere we want.
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LS)"B"’ Lglib)L’.(.‘SLw -23
D9l oo J“Dl" Qlﬂ.a‘ e U ollds IS oS Qw L 6}‘9" GLQ)L:}LMJ

onl wgs a5 SLdS cl p3Y cplplo gy oo, 0 lawed Slile 0,5 Lad e e and, but, or Ly, By, -

il (SLaSy ol 5 b s Wgdioe L e w4 B>
- She enjoys teaching and to write. (incorrect)
- She enjoys teaching and writing. (correct)

- Jane is young, enthusiastic, and she has talent. (incorrect)
- Jane is young, enthusiastic and talented. (correct)

- There are papers to file, reports to type, and letters should be answered. (incorrect)
- There are papers to file, reports to type, and letters to answer. (correct)

- 1 am here because | have to be and because | want. (incorrect)
- 1 am here because | have to be and because | want to be. (correct)

i (55lge oLl siejls i Wiy 0 I (b9 Djgo &S () B> -

001 ¢ I and ...,
either .o..oovviiii (0] SR
Neither .....o..ovvvii et NOT e,
notonly ....................butalso .......................

- He is not only intelligent but also he is creative. (incorrect)
- He is not only intelligent but also creative. (correct)

- He wants either to go by train or going by plane. (incorrect)
- He wants either to go by train or to go by plane. (correct)

- You can graduate either at the end of the fall semester or you can graduate at the end of the
spring semester. (incorrect)

- You can graduate either at the end of the fall semester or at the end of the spring semester.
(correct)

sl ail w2 b gilae jLsle ab o jlse ol as KYWops ole bowall § eyl ‘bﬁf‘sn O y90 dawslio a5 SALi;A -

more .................. than
-er veven.... than
less .ovvvevieiiein... than
same structure same structure
AS veriiiiiiiiiieeiaaan... @S
thesame ................. as
similar ................... to

- Music in your country is quite similar to my country. (incorrect)
- Music in your country is quite similar to music in my country. (correct)

- How to buy a used car can be as difficult as buying a new car. (incorrect)
- Buying a used car can be as difficult as buying a new car. (correct)
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- How to buy a used car can be as difficult as how to buy a new car. (correct)

- You have less homework than them. (incorrect)
- You have less homework than they do. (correct)

- His research for the thesis was more useful than hers. (correct)

dnlio m b conl )3 a5 gl g0 o the SAME aS a5 glis () b s jlo goline slixs the SaMeE as  same :axss
95050 ) A igd duolio pa b conl j1)3 a5 caul g0 5l ass the same a5 S 50 09,000 )5 4 Wgls

That car is almost the same as mine.
That car and mind are almost the same.
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> EXxercises
Questions

1. In a hot, sunny climate, man acclimatizes by eating less, drinking more liquids, wearing
lighter clothingand ...........

A. skin changes that darken

B. his skin is darken

C. experiencing a darkening of the skin

D. darkens his skin

2. Both historically and .......... , Ontario is the heartland of Canada.
A. in its geography

B. geographically

C. also its geography

D. geography

3. The aims of the European Economic Community are to eliminate tariffs between

A
member countries; developing common policies for agriculture, labor, welfare, trade, and
B

transportation; and to abolish trusts and cartels.

C D
4. The cacao bean was cultivated by the Aztecs not only to drink but also using as
currency. A B C D
Answers
1.C
2.B

3. B (to develop)
4. D (to use as currency)
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oS yluwod 3gud -24
neither 4 S0, t00, either 3l us Le § sius € obirad oo o (Sline 4 00iS luceds 3925 -

0052 5 A g8 oD O jgo 4y g, 0,5 4 ke SMlex 0 Bither 4 neither 3 coce slaale> ;0100 580 -

el 5 D90 4o ez ol

so do |
Code Ol o
| do too
| don’t either
i Olax o
Neither do |

He can drive, so can I.

She did her homework, I did too.

He can’t drive, | can’t either.

She didn’t her homework, neither did I.
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oy Olhle b hsleds Jb s glagwl -2

D9 oo 03litul Wil odsl oy Oile o L aS Lb)lked b p slapal b 3 jles BB slaewl L the -
- The poverty of people in the rural areas is not as visible as that of people in the city.
- The work of many people made the project a success.

29, )1 4 jled BB pf (elul Lk oz b 0300 (B)leds BB (oolul b il o oS sl NOL ANY (slise 4, 1O -
- No cheating will be tolerated.
- Bill told me that he has no friends.

Slaie AIMOSt all 45 wglas ol b ok is € o5 oo ) 1ué 0 acad e 4 g0 ,» MOSE OF the g almost all -

g so Jol 1) (g
- Almost all of the teachers at State University care about their students' progress.
- Almost all teachers at State University care about their students' progress.
- Most of the teachers at State University care about their students' progress.
- Most teachers at State University care about their students' progress.

WS oo g |y p9d sl 5 005 Jos Cdio 185 ) gl el eiilise o e Sy ol 55 (285
- | forgot their telephone’s number. (incorrect)
- | forgot their telephone number. (correct)

- May | borrow some notebook's paper? (incorrect)
- May | borrow some notebook paper? (correct)

2,5 a8lal gax =8 ¢ Jgl pul 4 g5 cad w0 |y Can 15 ol Mljd.;ﬂ‘snp.m)m;&&i ol 984S (60090 ;01 S

two bus stops

2,5 Bdo |y ai; ol ay bgy o S wils sale gloaiis) g pole b g po slopl 9,90 50 a5 o il ails axg5 2 4SS

two mathematics students

295 WLl b 55 S g el 0 B a5

a paper-s tiger —p a paper tiger

5SS gd A aS C80 g o oolaiwl 0y s 5l Al sla s Yw (hyphen) S e gl o o -

255 503 gez 8 S 0 Lo (gl
- They have a four-months-old baby. (incorrect)
- They have a four-month-old baby. (correct)

- A two-doors car is cheaper than a four-doors model. (incorrect)
- A two-door car is cheaper than a four-door model. (correct)
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that o lgale> 5 cle ;Lo SO (ClAUSE ) o lgalo .09, — ;15 4 @djective or adverb + that) o ,Le ;| L3S0 -
- He is so slow that he never gets to class on time.

- Preparing frozen foods is so easy that anyone can do it.

- He drives so fast that no one likes to ride with him.
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> EXxercises

Questions

1. .......... of Country-Western singers may be related to old English ballads.
A. The music

B. Music

C. Their music

D. Musics

2. At Woolworth's first five-and-ten-cent store, .......... more than a dime.
A. neither items cost

B. items not cost

C. items none costing

D. no item costs

3. .......... fuel that is used today is a chemical form of solar energy.
A. Most of

B. The most

C. Most

D. Almost the

4. ..........is cheaper for students who maintain a B average because they are a better risk
than average or below-average students.

A. Automobile's insurance

B. Insurance of automobiles

C. Automobile insurance

D. Insurance automobile

5. The evolution of vertebrates suggests development from a very simple heart in fish to

A. four-chamber heart

B. four-chambers heart
C. four-chamber hearts
D. four-chamber's heart

6. Oil paints are .......... they have become the most popular painter’s colors.
A. so versatile and durable that

B. so versatile and durable than

C. such versatile and durable as

D. such versatile and durable
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7. Philosophy of the ancient Greeks has been preserved in the scholarly writing of
A B C
Civilization.
D

8. Some religions have none deity but are philosophies that function instead of religions.
A B C D

9. Almost the plants known to us are made up of a great many cells, specialized to
A B C D
perform different tasks.

10. Sex's education is instituted to help the student understand the process of maturation;
A B
to eliminate anxieties related to development, to learn values, and to prevent disease.
C D

11. The MX is a four-stages rocket with an 8000-mile range, larger than that of the
Minuteman. A B C D

12. By the mid-nineteenth century, land was such expensive in large cities that architects

A B
began to_conserve space by designing skyscrapers.
C D
Answers
1A
2.D
3.C
4.C
5A
6. A
7. A (The philosophy)
8. B (no)
9. A (Most of or Almost all of)

10. A (Sex education)
11. B (four-stage)
12. B (so expensive)
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Lo ,lgalos -26
aizd SlelS 51 29,5 oo jlgalan .o (ClAUSE) alazais b ojlgalan sz b o glylo (oSSl 0 e 5l L5
ey | 2 35S ol ylicebsl Jeld g Jad 099 511 iuars axlge oo, lgales b ol ,o .o Jas g Jebb ol yls a5

d.:j.w Qio-la.a L&bo)b:\l.o? JL@‘ 0923
s (COMPIEX) les L oS 55 5 €OMPOUN) S o colws 05,5 dw ds baolsalen als oo 45 jsbilen V)
ool wl oaimalay, b Wgw B> lgie 4 @Nd, SO, for, nor, or, but, yet LS 5l pge £45 ;0 45 W53 oo

()l bl @ ) canlvosimolay, Jgl By, 2z oS fan boys Ailgl oo 55 ol o Cdagen (sly) D4 oo

Clause + for + Clause
and
nor
but
or
yet
S0

Tom is singing, and Paul is dancing.

Tomi is tall, but Paul is short.

Tom must write the letter, or Paul will do it.
Tom told a joke, so Paul laughed.

Tom is tired, yet he is not going to sleep.

The missing wallet was found, but the cash and credit cards had been removed.
o lgakex opdgl Jxd WaS found co,lgales sl Jels Wallet
oylgakex (rego Jxb had been removed .o ,lsale> pegs Jels Cash and credit cards

o)bd.l.o? 50 oD JLAJ‘ but

AS o Jeatie o a1 oo lgalen 5 JSC5 90 e g oyloj Ly 99.3 Y

r n n when as
i as soon as 0_ ce € (a5 55551 S Yl>) now that
as before  since  whenever because _
aslongas bythetime until while (a5 bl 5 inasmuch as since

subject + verb by, a8 subject + verb

Teresa went inside because it was raining

by o subject + verb subject + verb

Because it was raining, Teresa went inside.
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The mother is going to be quite upset with her son as long as he misbehaves so much.
o)lgakex (ydgl 28 IS §OING tO DE o lgalex Jgl Jels MOther
Ly, a8as long as
oylgalex (rags Jxd MISDENAVES w0 lgales pusgo Jeld hE

il o Bime 15 Jgdo 0 45 W51 CUYS 55 (6,50 3lge e g los p odle (saud (sl lgales v

. i although
in case
. even though
(&S 5,32 ,») provided though as where
providing while in that wherever
unless (a5 J> ,3) Whereas
whether
subject + verb by, a8 subject + verb
Bob went to school even though he felt sick.
by o8 subject + verb subject + verb
Even though Bob felt sick, he went to school.
As the nurse already explained, all visitors must leave the hospital room now.
Ly 03 A

o lgakex opdgl Jab €Xplained w lgalex Jgl Jels NUISE
oylgakes Crags Jxd MUSE 1€AVE (o ,lgalex ogs Jelb VISILOrS

It is impossible to enter the program if you lack experience as a teacher.
Ly, a3 i

o)bd.l.g? Wso Jﬁ |aCk ‘o)‘sd.l.o? Wso J.:L‘B yOU
SIS b ol O yle 5900 5 ez 50 el S sl 4 a5 Cil SLS 5 Slegeme comul O yle SV
39:8) Loy, SlelS Ll @ a5 098 oo el .. 9 WHO — WhOm — what — where — when — whose — why L

Sy S & aBlol Gy gl Jgmie b 5 b (sl Jgmie caloz el sl ay Wl o ool & jlie 055 oo a2 (Lay,

why
where
what whatever Wh«_ather that
whenever if
when
how

Jsrie 6> 4 (ool &)L

subject + verb noun connector subject + verb

I know what you did.
Jebb slr @ ool o le
noun connector subject + verb verb
What you did was wrong.
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The schedule indicated if the team would be playing in the final game.
would be playing s sl Jorie sl> 4 ool &L if the team would be playing in the final game
ol o5le b indicated « ol o ,Le Jels SChedule
Ly s if

would be playing -5 Jels team

Whether or not the new office would be built was to be determined at the meeting.
Was Jsb Jelb sl> 4 ool & e Whether or not the new office would be built

Ly, o3 Whether or not

ol oyle J=8 would be built  oul o Le Jes Office

He always talked with whomever he pleased and wherever he wanted.
J=s talked . et He

With Jesie s> 4 ool & ke Whomever he pleased+ wherever he wanted
Ly, o8 Wwhomever

pleased J»5 J<bs he

Ly, o8 Wherever

wanted Jod Jeld he

il o ol Ole Jelb o 3l Saesbls )l i pogdle wilgi oo 955 Layy aelS 3 )lge (S 0V

who what which
whoever whatever whichever

Jsrie ploie 4y gomsl O 5le

subject + verb noun connector/subject verb
I know What happened.
Jeb plgie 4 ponsl & )lee
noun connector/subject verb verb
What happened was wrong.

What was written in the letter angered him beyond belief.
el alox Jeld a5 oul & Le What was written

ol O)le = WAS Written . ewl o Le Jels What

ale> =6 angered
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00)5] p_m‘)‘uw:d_.als)b ‘o)bd,gﬁ_.ouijjg’)ﬁ?;%)‘sn)lf@w o p—a-o‘&’&—-@yu&?‘sb—@y U)L'«-C‘/

Py
whom which that
(for people) (for things) (for people or things)
Jsrde $ln Shrog &)l
subject + verb + object adj connector subject + verb
I like the book which you recommended.
Job sl oy )l

subject adj connector subject + verb verb

The book which you recommended was interesting.

The plane that he was scheduled to take to Hawaii was delayed.
ale> Jxé Was delayed ale> Jels plane

Jeb sl iogs o Le that he was scheduled to take to Hawaii

oy ke Jas Was scheduled . avog o )le Jels he

I made an appointment with the doctor whom you recommended.
alol B> gl Jorie AOCLON ( Jxd (sl Jgzie APPOINMENE calax Jxs MAdE alox Jels |

(doctor) Jszie slp sivoss o le Whom you recommended.

SJsose yes WhOM
oy O)ke a3 recommended.  iog o le Jels YOU

Lo ,lgalos (40,5 s

sl OF 5l oy dlolidl 508 b 5 Jgoge ead Sjgo (50 09 jalls 4ds & j50 4y Wl o (hros lis -
The letter which-was written last week arrived today.
The letter written last week arrived today.

50,5 Bix Iy Jyoge yod a5 ol (B oy Oyle 40,5 oM gl il arals e Jab alax 3111 4SS
DB s ing e asly Jad

I don’t understand the article which appears in today’s paper.

I don’t understand the article appearing in today’s paper.

a5 055l ol aodE el (63,150 Lo g Wigi Ao ASilgE cos oy Dl )le don a5 el (g glol 4y oY 2 ass
Qb sdal Jad aloldl Jgoge yuod 5l an

The woman that | just met is the tour guide.
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50 ol axaS aS g8 ] ogdle Wilg o oy oo oligS Kb il oyt LS b oy 5)le a5 590 03 4SS
gd ol 15 alex glax

The White House, which-s located in Washington, is the home of the president.

The White House, located in Washington, is the home of the president.

Located in Washington, the White House is the home of the president.

Bl Jels gD b g ouile 3L Loy, 0B a5 & g0 ps cig— Lol 4 oM O g0 4 silgi o i soud Ol jle =
Py

Although he-is rather unwell, the speaker will take part in the seminar.
Although rather unwell, the speaker will take part in the seminar.

QS oo o i NG JSCo 0 Jd g o0 B Jelb (48,5 aods Cga il 9929 alax o DB Jub 5111 G
When yeud-give your speech, you should speak loudly and distinctly.
When giving your speech, you should speak loudly and distinctly.

oisS Jagome aloz o o Laid sl 51 551 g 05,5 |, o0 ol IS ay oolil ()56l (603 (slocs Le ann 12 aiSG

Mg g0
time condition contrast place manner
after

before if although
polrs alaz )5 alS since unless though
while whether
when
once it
until although where
Jotos abex o jials unless g as
when though wherever
whether
whenever

If not completely satisfied, you can return the product to the manufacturer.
Once purchased, the swimsuits cannot be returned.

Gl fun Colworg 50wyl Lwlis)lS USAJT Sledb) g )Ll L}J")D'T




85 e b sl ssT s (sl _pee OIS

Jebs o9 gla,is b =27
wail LSy olalolgales T Jelbb b (Lol alex Jeld sl aS o ls 3929 ool o lgale o Olax Sy
23 (oo B yad 050 |y (ol dlex Jelb plalolsaler Koo &)le

Looking at his watch, Mr.Jones got up and left.
ol (Lol oz Jels MILJONES g 045 o aisliss olatl o lgales lgze 4 LOOKING at his watch 4 alex ;o
ool LSy ale 90 50 Jelb oS
il ol oz g olol dlox g0, Jelb JONN L5 ales o L

Compared to his father, John is a tall man.
19550 )1 & IS8 g0 4 Jebb o sla sl (IS ok

Al s 90 o Jelb g axil ools & plojed g alasd SO 0 a5 Joe g0 Lo NG+ Jad 1

Brushing his teeth, he answered the phone.

il ools F) oo slatal ;o g 05 LSS g0 o Jeld aS 0, o0 LIS 4 Jas 90 Ly sl having + I8 pow o 2
e )5 ol F ) pe JLis 4y g Jlg5 aall pgo Cl> )0 (g Jos 90 Slejen dall aS ol cdl> GBS 5 oim
Having bought the ticket, we entered into the stadium.
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03l SG 3l s Sl Koo 390 (] g oo Ll Slgl a8 Jelb g Jud aiiS o ylo |y K6 a5 Slile jlam 1
29, ,I5 & here, there, nowhere L
There are the keys that | thought I lost.

Here is the book that you lent me.
Nowhere have | seen such beautiful weather.

g buls awlys oo Jebb 5 Jad S o ylo |y e Bl By b aS™ Slhle 51 e Cyuizmon -
In the closet are the clothes that you want.
Around the corner is Sam’s house.
Beyond the mountains lies the town where you will live.

Sl alex ;0 &le o] 0929 45 0,10 099 S suiS o &L 3o JelB g Jd ool Gl G a0 0 s :aisS
A8l 555, alazr i o

In the forest are many exotic birds.
In the forest | walked for many hours.

Dgd oo ol N0, NOL, NEVEr Ll aie lle Sy 5l o Jelo g Jas 2
Not once did | miss a question.
Never has Mr. Jones taken a vacation.
At no time can the woman talk on the telephone.

saisS it Oy 4 a0 ardly, barely, scarcely, only, rarely, seldom ,.Ls ol 55 cuioon -

Aigd oo Lul> a8 g Jeld wuly alox slal jo OllS (pl 51 (6 a5 J 50 10 008 o s
Hardly ever does he take time off.
Only once did the manager issue overtime paychecks.
ol Vgone &yl ol 58 oo bl Jelb 5 s wuls alos Loy ;5 Jad g Jolb 51 iy ooisS e & jle SO 8 -
<l NON L ¢ Neither

I don’t want to go, and neither does Tom.
The secretary is not attending the meeting, nor is her boss.

Jeld g Jad olul> 8)lge ol 40 coils axg5 wb Lol olidl so 3] 55 aolio plKin jo Jelb g Jad olbul> uizen 3
el 6 )z g s a3 S
My sister spends more hours in the office than John.

My sister spends more hours in the office than John does.
My sister spends more hours in the office than does John.
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B | I g5 oo b If b, sasmsla, g ol had, should, were Ss Jas a5 —ax i glo bzl 0 4

DS ala 1) Jebb g Jod ©j50 (nl )3 g 00,8
H he had taken more time, the results would have been better.
Had he taken more time, the results would have been better.

I would help you # I were in a position to help.
I would help you were 1 in a position to help.

H you should arrive before 6:00, just give me a call.
Should you arrive before 6:00, just give me a call.
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5 ez g0 phe 5l el o xSl (glael sl 45 ne iy a5 3,2) T Slawsle ST ) iy o By > -
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The teachers who are teaching in this university are mostly Asian.
I need a new iron.

Dgd sod oliiul iy 25 By, 5l 55,8 S oo 0Ll Lol b ol 8l 5 ails S a aS ple slapal ) 8 L 4SS

Cats cannot fly.
Fruit is good for you.

the «b oS oo solazul the @25 B il olaed it LSS g oo anslid Ql@g)oniLmMI)'\J.,_’ézz PR

sun, the moon, ...

2SS eolazwl the 2 el G ople 0 5 4 s o 3 4SS

Gold is a metal.

g go oolaiul the 3 gill g b jo daoly el 51 LS A S

the Caspian Sea, the Athlantic Ocean, ...

@y, Byl lae pl 5l S Sl cpl j0 05 5T a4 pl laie 4 lgs e | L g POOT 71| IRCE ebca o 5 ass
Db oo oolizul the

The tall is my brother.
The poors need help.

D oo o3lizwl the 51 s 5 slael g Jle slaciin 51 L3 6 4

the fist, the best, the most, ...

iS5 oolinul the 515550 e y5iS ol s plseal gl o Jlo o)l 5 Jlos slools cain slass, 51 7 4G

ROEPPREC] | 5 PRCCHPE P JOR P N AP IS SUPSNCIRE  JEte

the Iran
the Islamic Republic of Iran

gl oo oolaiul the el A8 ke slacgs 5l 13 9 s
The North, the East, the West, the South

il oolgils S glac! jalaie a5 1l (S 09l cad oolaiul the 3 el Bl 51 L3 10 ass

The Jacksons, ...
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el 00l 00)51 WX S oo 41,8 oLl 050 Cto g pul b ol patr a5 gladlal By > o Sl g Jga o

a8Ls1 g > -30

be absent from

be accused of

be accustomed to
be acquainted with
be addicted to

be afraid of

agree with

be angry at/with
be annoyed with/by
apologize for
apply to/for
approve of

argue with/about
arrive in/at

be associated with
be aware of

believe in

blame for

be blessed with
be bored with/by

be capable of

care about/for

be cluttered with
be commited to
compare to/with
complain about/of
be composed of

be concerned about
be connected to
consist of

be content with
contribute to

be convinced of

be coordinated with
count (up) on

be covered with

be crowded with

decide (up) on
be dedicated to
depend on/upon
be devoted to

distinguish from

be disappointed in/with
be discriminated against

be divorced from
be done with
dream of/about
be addressed in

be engaged in/to
be envious of

be equipped with
escape from

excel in/at

be excited about
be exhausted from
excuse for

be exposed to

be faithful to

be familiar with
feel like

fight for

be filled with

be finished with
be fond of

forget about
forgive for

be friendly to/with
be frightened of/by
be furnished with

be gone form
be grateful to/for
be guilty of

hide form
hope for

be innocent of

insist on

be interested in
introduce to

be involved in

be jealous of

keep from
be known for

be limited to
be located in
look forward to

be made of/from

be married to

object to
be opposed to

participate in
be patient with
be pleased with
be polite to
pray for

be prepared for
prevent from
prohibit from
be protected from
be proud of
provide with

be qualified for

recover from

be related to

be relevant to

rely (up) on

be remembered for
rescue from
respond to

be responsible for

be satisfied with
be scared of/by
stare at

stop from
subscribe to
substitute for
succeed in

take advantage of
take care of

talk about/of

be terrified of/by
thank for

think about/of

be tired of/from

be upset with
be used to

vote for
be worried about
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do ¢ make s welas

Jols» glins 4y iy do a5 S 50 095000, 4 &y, sl | €0 5L LSl S 4 Gowe make -
QSM‘SA oolazul «QJJL'-‘) PL’U‘ d“.» L’ «QO)S

- She likes to make her own clothes.

- Would you like to make a cake for dessert?
- If you make a mistake, you should correct it.
- This morning she did all the dishes.

- The students are doing the assignments.

- The janitors did the work they were assigned.

1S o ala>de [, MaKe 3 dO Lol 0 oljle 5 golans aslsl o -
make an attempt 5,5 xw
make an offer -jols slpies
make a decision ;,:5,5 seuas
make a discovering .o ,5 cass
make a profit ;s xss
make a promise ;,ols Jg3
make an announcement s, el
make a mistake .,s,5 ol
do a favor ;s 5 Gl
do homework ;,sls plos! calss
do a paper ysg allis
do research 5,5 s
do the dishes ;s |, v &1
do the laundry s 5 gaSias

do the work sls slxil I8
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dislike ¢ unlike .alike Jdike o wqlas

L aare asle Jusl 5l am wlgs oo s @lIKE ol oo €ab 4y slias 4 a5 sizwn Slio g0 ,» alike g like -
258 oolitul gl 5l S Lz Wb a5 el tis like Ll s,

He dosen’t look his brother.

He and his brother don’t look alike.

ookl ailgs oo m2 QT )'Léi 30 o dex sl aen yo g JJ...).""SA Jerae 51 L8 g0 0 (Gl wlais) unlike 9 (4 al) Like

gl oo Jlesl Leﬂ Sy90 ;0 Jad b bogy e acled 5 wiiid J2d 40 12 (0 yaiie) dislike 9 (oyls Cwgo) Like

others ganother .other ;ns wyla

3,90 4adS L ioims 15 e a1 jam i ol a5 ol Lo 0usS oolitul Wb G plaS 5l a5 0y 1150 pweal 45! sl -
S C88 5 sl lie e b ol o 3 astinls b conl atin 2 8,0 b ol ge L

- | have another book.

- | have another.

- | have the other book.

- | have the other.

- | have other books.

- | have others.

- | have the other books.
- | have the others.

had better ¢ would rather . wylas

A5yl oo b bl Sglas e ks 51 had better g would rather
5 0loo 10 g0 joas ygo @ ] 5l o Jad ol o | :519.@1 ol Jebb g «y0ls 5 slixe 4 WoUId rather -
25 Jsthan b olyiee |y o1 L ool ez 5

I would rather go to a movie tonight.
I would rather go to a movie tonight than study grammar.

el 30 D90 4 LSl (pl sae S5 -
I would rather not tell you.

dged Bi> Jadl a3 4 1, StUAY wlgs oo o3 ales ;o 1SS
I’d rather study history than study biology.
I’d rather study history than biology.

<ol Would rather + have + Jxé sy cond & 50 4 WoUI rather «zis -
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The movie was ok, but I would rather have gone to the concert last night.

<l Would rather + be + .3 +ing o ,5» 4 Would rather | ol S -

5 S xSy 00 55 4 YOU e Botes) ,503 3,8 4 50,5 S gl 5 € a5 Sl 24 sLise 4 had better -
el 10 150 j0uae &5 4 oo Nad better

You’d better take care of it.

el 30 D90 4 LSl (pl sae S5 -

You’d better not go to the party tonight.

0,05 41538 g 09, 0,5 4 eun] g b slagyle; sl had better s
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» Exercises
Questions
1. The buffalo and bison are like except for the size and shape of the head and shoulders.
A B C D

2. Other interesting aspects of tachistopic training in recent years has been the new found

A B C
use by professional teams.
D
3. Only about 3 percent of oil wells actually do a profit.

A B C D
4. Dislike sumac with red berries, sumac with white berries is poisonous.
A B C D
5. Pittsburg has reduced its smog by requiring more comlete oxidation of fuel in cars, and
A B
others cities can do the same thing.
C D

6. Alike all other mammals, dolphins have lings.

A B C D
7. Up to World War 11 almost all important research in physics had made in universities,

A B

with only university funds for support.

C D
8. Because the plan that was made yesterday is no longer feasible, the manager had to

A B C
choose another alternatives.
D
9. Particles with unlike charges attract each other, while particles with alike charges repel
each other. A B C
D
10. One another surprising method of forest conservation controlled cutting of trees.
A B C D

Answers
1. B (alike)
2. A (another)
3. D (make)
4. A (unlike)
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5. C (other)

6. A (like)

7. B (done)

8. D (alternative)
9. C (like)

10. A (another)
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(Redundancy) g -32

2l (Slal alle 5 SLlS g 0,ls oz )| ] pogdel g oduzmn S0 2 alor So JSS 0 Joslw 5 0 im0 0)l500 -
(guinzr) W50,5 Bd> Sl u> b

- The disease was very serious in the nature of it. (incorrect)

- The disease was very serious. (correct)

- Mary had always behaved in a responsible manner. (incorrect)
- Mary had always behaved responsibly. (correct)

A5y dla SO0 wlie cxe L llS 1SS 5l -
- The money that | have is sufficient enough for my needs. (incorrect)
- The money that | have is sufficient for my needs. (correct)

- The class advanced forward rapidly. (incorrect)
- The class advanced rapidly. (correct)

e et S Sl 4T (gl )0 WS g0 g 1) sl (o 45 (55000 b olyen ol Sy lojem (01 I -

- My sister she found a store that imported food from our country. (incorrect)
- My sister found a store that imported food from our country. (correct)
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> EXxercises

Questions

1. Waitresses and waiters who serve .......... deserve at least a 20 percent tip.
A. in a courteous manner

B. courteously

C. with courtesy in their manner

D. courteous

2. Famous for his punctuation, typography, and language, Edward Estlin Cummings
published his ............... collected poems in 1954.

A. new innovations for

B. innovations in

C. newly approached

D. innovations newly approached in

3. Aperennialis.................. for more than two years, such as trees and shrubs.
A. any plant that it continues to grow

B. any plant it continuing to grow

C. any plant that continues to grow

D. any plant continuing growth

4. Hummingbirds move their wings so rapid away that they appear to be hanging in the
air. A B C D

5. The idea of a submarine is an old ancient one, dating from as early as the fifteenth

A B C
century when Drebbel and Da Vinci made preliminary drawings.
D

6. Advertising it provides most of the income for magazines, newspapers, radio, and
A B C
television_in the United States today.
D

Answers

1.B

2.B

3.C

4. B (rapidly)

5. A (an old one or an ancient one)
6. A (it should be ommited)
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Passage 1

In brief, the modem scientific method is an organized approach to explaining observed facts,
with a model of nature, subject to the constraint that any proposed model must be testable and
the provision that the model must be modified or discarded if it fails these tests.

In its most idealized form, the scientific method begins with a set of observed facts. A fact
is supposed to be a statement that is objectively true. For example, we consider it a fact that the
Sun rises each morning, that the planet Mars appeared in a particular place in our sky last night,
and that the Earth rotates. Facts are not always obvious, as illustrated by the case of the Earth's
rotation. For most of human history, the Earth was assumed to be stationary at the center of the
universe. In addition, our interpretations of facts often are based on beliefs about the world that
others might not share. For example, when we say that the Sun rises each morning, we assume
that it is the same Sun day after day-an idea that might not have been accepted by ancient
Egyptians, whose mythology held that the Sun died with every sunset and was reborn with
every sunrise. Nevertheless, facts are the raw material that scientific models seek to explain,
so it is important that scientists agree on the facts. In the context of science, a fact must therefore
be something that anyone can verify for himself or herself, at least in principle.

Once the facts have been collected, a model can be proposed to explain them. A useful
model must also make predictions that can be tested through further observations or
experiments. Ptolemy's model of the universe was useful because it predicted future locations
of the Sun, Moon, and planets in the sky. However, although the Ptolemaic model remained in
use for nearly 1,500 years, eventually it became clear that its predictions didn't quite match
actual obsemations -a key reason why the Earth- centered model of the universe finally was
discarded.

In summary, the idealized scientific method proceeds as follows:

» Observation: The scientific method begins with the collection of a set of observed facts.

» Hypothesis: A model is proposed to explain the observed facts and to make new
predictions. A proposed model is often called a hypothesis, which essentially means an
educated guess.

* Further observations/ experiments: The model's predictions are tested through further
observations or experiments. When a prediction is verified, we gain confidence that the model
truly represents nature. When a prediction fails, we recognize that the model is flawed, and we
therefore must refine or discard the model.

» Theory: A model must be continually challenged with new observations or experiments
by many different scientists. A model achieves the status of a scientific theory only after a
broad range of its predictions has been repeatedly verified. Note that, while we can have great
confidence that a scientific theory truly represents nature, we can never prove a theory to be
true beyond all doubt. Therefore, even well-established theories must be subject to continuing
challenges through further observations and experiments.

In reality, scientific discoveries rarely are made by a process as mechanical as the idealized
scientific method described here. For example, Johannes Kepler, who discovered the laws of
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planetary motion in the early 1600s' tested his model against observations that had been made
previously, rather than verifying new predictions based on his model. Moreover, like most
scientific work, Kepler's work involved intuition, collaboration with others, moments of
insight, and luck. Nevertheless, with hindsight we can look back at Kepler's theory and see that
other scientists eventually made plenty of observations to verify the planetary positions
predicted by his model. In that sense, the scientific method represents an ideal prescription for
judging objectively whether a proposed model of nature is close to the truth.

1. The word obvious in paragraph 2 is closest in meaning to ...........
A) interesting

B) clear

C) simple

D) correct

2. Why did the author give the example of the ancient Egyptians in paragraph 2?
A) To explain the rotation of the earth and the sun

b) To prove that facts may be interpreted differently across cultures

C) To present the fact that can be verified by the reader

D) To discard a model that was widely accepted

3. The word essentially in paragraph 4 is closest in meaning to .......... .
A) obviously

B) occasionally

C) basically

D) oddly

4. The word flawed in the passage is closest in meaning to ...........
A) not perfect

B) not modern

C) not routine

D) not accepted

5. According to paragraph 3, why was the Ptolemaic model replaced?
A) The model was not useful in forecasting the movement of the Sun.

B) The predictions did not conform to observations of the universe.

C) The Ptolemaic model had been in use for about 1,500 years.

D) Most scientists believed that the Earth was the center of the universe.

6. According to paragraph 4, theories that are generally accepted ...........
A) must still be verified

B) have several models

C) can be unscientific

D) are very simple
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7. According to paragraph 5, what did Kepler do to verify his theory of planetary motion?
A) He made predictions based on the model.

B) He asked other scientists to make predictions.

C) He used prior observations to test the model.

D) He relied on insight to verify the theory.

8. The word plenty in the passage is closest in meaning to ............
A) broad

B) reliable

C) detailed

D) numerous

9. All of the following statements are part of a definition of the term fact EXCEPT

A) A fact is objectively true.

B) A fact can be verified.

C) A fact may be interpreted.

D) A fact must be comprehensible.

10. It may be concluded from information in this passage that a model .................
A) does not always reflect observations

B) is not subject to change like theories are

C) is considered true without doubt

D) does not require further experimentation

Passage 2

Each advance in microscopic technique has provided scientists with new perspective, on the
function of living organisms and the nature of matter itself. The invention of the visible-light
microscope late in the sixteenth century introduced a previously unknown realm of single-
celled plants and animals. In the twentieth century, electron microscopes have provided direct
views of viruses and minuscule surface structures. Now another type of microscope, one that
utilizes X rays rather than light or electrons, offers a different way of examining tiny details; it
should extend human perception still farther into the natural world.

The dream of building an X-ray microscope dates to 1895; its development, however, was
virtually halted in the 1940's because the development of the electron microscope was
progressing rapidly. During the 1940's electron microscopes routinely achieved resolution
better than that possible with a visible-light microscope, while the performance of X-ray
microscopes resisted improvement. In recent years, however, interest in X-ray microscopes has
revived, largely because of advances such as the development of new sources of X-ray
illumination. As a result, the brightness available today is millions of times that of X-ray tubes,
which, for most of the century, were the only available sources of soft X-rays.
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The new X-ray microscopes considerably improve on the resolution provided by optical
microscopes. They can also be used to map the distribution of certain chemical elements. Some
can form pictures in extremely short times; others hold the promise of special capabilities such
as three-dimensional imaging. Unlike conventional electron microscopy, X-ray microscopy
enables specimens to be kept in air and in water, which means that biological samples can be
studied under conditions similar to their natural state. The illumination used, so-called soft X
rays in the wavelength range of twenty to forty angstroms (an angstrom is one ten-billionth of
a meter), is also sufficiently penetrating to image intact biological cells in many cases. Because
of the wavelength of the X rays used, soft X-ray microscopes will never match the highest
resolution possible with electron microscopes. Rather, their special properties will make
possible investigations that will complement those performed with light- and electron-based
instruments.

1. What does the passage mainly discuss?
A) The detail seen through a microscope

B) Sources of illumination for microscope
C) A new kind of microscope

D) Outdated microscopic techniques

2. According to the passage, the invention of the visible-light microscope allowed
scientists to ................ :

A) see viruses directly

B) develop the electron microscope later on

C) understand more about the distribution of the chemical elements

D) discover single-celled plants and animals they had never seen before

3. The word minuscule in paragraph 1 is closest in meaning to ......... .
A) circular

B) dangerous

C) complex

D) tiny

4. The word it in paragraph 1 refersto ......... .
A) a type of microscope

B) human perception

C) the natural world

D) light

5. Why does the author mention the visible-light microscope in the first paragraph?
A) To begin a discussion of sixteenth-century discoveries

B) To put the X-ray microscope in a historical perspective

C) To show how limited its uses are

D) To explain how it functioned
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6. Why did it take so long to develop the X-ray microscope?

A) Funds for research were insufficient.

B) The source of illumination was not bright enough until recently.
C) Materials used to manufacture X-ray tubes were difficult to obtain.
D) X-ray microscopes were too complicated to operate.

7. The word enables in paragraph 3 is closest in meaning to ......... .
A) constitutes

B) specifies

C) expands

D) allows

8. The word Rather in paragraph 3 is closest in meaning to ..........
A) significantly

B) preferably

C) somewhat

D) instead

9. The word those in paragraph 3 refersto ......... .
A) properties

B) investigations

C) microscopes

D) Xrays

10. Based on the information in the passage, what can be inferred about X-ray
microscopes in the future?

A) They will probably replace electron microscopes altogether.

B) They will eventually be much cheaper to produce than they are now.

C) They will provide information not available from other kinds of microscopes.
D) They will eventually chance the illumination range that they now use.

Passage 3

In the United States in the early 1800's, individual state governments had more effect on the
economy than did the federal government. States chartered manufacturing, banking, mining,
and transportation firms and participated in the construction of various internal improvements
such as canals, turnpikes, and railroads. The states encouraged internal improvements in two
distinct ways: first, by actually establishing state companies to build such improvements;
second, by providing part of the capital for mixed public-private companies setting out to make
a profit.

In the early nineteenth century, state governments also engaged in a surprisingly large
amount of direct regulatory activity, including extensive licensing and inspection programs.
Licensing targets reflected both similarities in and differences between the economy of the
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nineteenth century and that of today: in the nineteenth century, state regulation through
licensing fell especially on peddlers, innkeepers, and retail merchants of various kinds. The
perishable commodities of trade generally came under state inspection, and such important
frontier staples as lumber and gunpowder were also subject to state control. Finally, state
governments experimented with direct labor and business regulation designed to help the
individual laborer or consumer, including setting maximum limits on hours of work and
restrictions on price-fixing by businesses.

Although the states dominated economic activity during this period, the federal government
was not inactive. Its goals were the facilitation of western settlement and the development of
native industries. Toward these ends the federal government pursued several courses of action.
It established a national bank to stabilize banking activities in the country and, in part, to
provide a supply of relatively easy money to the frontier, where it was greatly needed for
settlement. It permitted access to public western lands on increasingly easy terms, culminating
in the Homestead Act of 1862, by which title to land could be claimed on the basis of residence
alone. Finally, it set up a system of tariffs that was basically protectionist in effect, although
maneuvering for position by various regional interests produced frequent changes in tariff rates
throughout the nineteenth century.

1. What does the passage mainly discuss?

A) States' rights versus federal rights

B) The participation of state governments in railroad, canal, and turnpike construction
C) The roles of state and federal governments in the economy of the nineteenth century
D) Regulatory activity by state Governments

2. The word effect in paragraph 1 is closest in meaning to ......... .
A) value

B) argument

C) influence

D) restraint

3. All of the following are mentioned in the passage as areas that involved state
governments in the nineteenth century EXCEPT ......... .

A) mining

B) banking

C) manufacturing

D) higher education

4. The word distinct in paragraph 1 is closest in meaning to ......... .
A) separate

B) innovative

C) alarming

D) provocative
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5. It can be inferred from the first paragraph that in the nineteenth century canals and
railroads were ............ccoveeennennn

A) built with money that came from the federal government

B) much more expensive to build than they had been previously

C) built predominantly in the western part of the country

D) sometimes built in part by state companies

6. The regulatory activities of state governments included all of the following EXCEPT
A) licensing of retail merchants
B) inspecting materials used in turnpike maintenance

C) imposing limits on price fixing
D) control of lumber

7. The word setting in paragraph 2 is closest in meaning to ......... .
A) discussing

B) analyzing

C) establishing

D) avoiding

8. The word ends in paragraph 3 is closest in meaning to ......... .
A) benefits

B) decisions

C) services

D) goals

9. According to the passage, which of the following is true of the Homestead Act of 18627
A) It made it increasingly possible for settlers to obtain land in the West.

B) It was a law first passed by state governments in the West.

C) It increased the money supply in the West.

D) It established tariffs in a number of regions.

10. Which of the following activities was the responsibility of the federal government in
the nineteenth century?

A) Control of the manufacture of gunpowder

B) Determining the conditions under which individuals worked

C) Regulation of the supply of money

D) Inspection of new homes built on western lands
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Passage 4

Life originated in the early seas less than a billion years after the Earth was formed. Yet
another three billion years were to pass before the first plants and animals appeared on the
continents. Life's transition from the sea to the land was perhaps as much of an evolutionary
challenge as was the genesis of life.

What forms of life were able to make such a drastic change in lifestyle? The traditional
view of the first terrestrial organisms is based on megafossils — relatively large specimens of
essentially whole plants and animals. Vascular plants, related to modern seed plants and ferns,
left the first comprehensive megafossil record. Because of this, it has been commonly assumed
that the sequence of terrestrialization reflected the evolution of modern terrestrial ecosystems.
In this view, primitive vascular plants first colonized the margins of continental waters,
followed by animals that fed on the plants, and lastly by animals that preyed on the plant-eaters.
Moreover, the megafossils suggest that terrestrial life appeared and diversified explosively near
the boundary between the Silurian and the Devonian periods, a little more than 400 million
years ago.

Recently, however, paleontologists have been taking a closer look at the sediments below
this Silurian-Devonian geological boundary. It turns out that some fossils can be extracted
from these sediments by putting the rocks in an acid bath. The technique has uncovered new
evidence from sediments that were deposited near the shores of the ancient oceans — plant
microfossils and microscopic pieces of small animals. In many instances the specimens are
less than one-tenth of a millimeter in diameter. Although they were entombed in the rocks for
hundreds of millions of years, many of the fossils consist of the organic remains of the
organism.

These newly discovered fossils have not only revealed the existence of previously unknown
organisms, but have also pushed back these dates for the invasion of land by multicellular
organisms. Our views about the nature of the early plant and animal communities are now
being revised. And with those revisions come new speculations about the first terrestrial life-
forms.

1. The word drastic in paragraph 2 is closest in meaning to ......... .
A) widespread

B) radical

C) progressive

D) risky

2. According to the theory that the author calls 'the traditional view," what was the first
form of life to appear on land?

A) Bacteria

B) Meat-eating animals

C) Plant-eating animals

D) Vascular plants
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3. According to the passage, what happened about 400 million years ago?
A) Many terrestrial life-forms died out.

B) New life-forms on land developed at a rapid rate.

C) The megafossils were destroyed by floods.

D) Life began to develop in the ancient seas.

4. The word extracted in paragraph 3 is closest in meaning to ......... .
A) located

B) preserved

C) removed

D) studied

5. What can be inferred from the passage about the fossils mentioned in paragraph 3?
A) They have not been helpful in understanding the evolution of terrestrial life.

B) They were found in approximately the same numbers as vascular plant fossils.

C) They are older than the megafossils.

D) They consist of modem life-forms.

6. The word instances in paragraph 3 is closest in meaning to ......... .
A) methods

B) processes

C) cases

D) reasons

7. The word they in paragraph 3 refersto ......... .
A) rocks

B) shores

C) oceans

D) specimens

8. The word entombed in paragraph 3 is closest in meaning to ......... .
A) crushed

B) trapped

C) produced

D) excavated

9. Which of the following resulted from the discovery of microscopic fossils?
A) The time estimate for the first appearance of terrestrial life-forms was revised.
B) Old techniques for analyzing fossils were found to have new uses.

C) The origins of primitive sea life were explained.

D) Assumptions about the locations of ancient seas were changed.
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10. With which of the following conclusions would the author probably agree?

A) The evolution of terrestrial life was as complicated as the origin of life itself.

B) The discovery of microfossils supports the traditional view of how terrestrial life evolved.
C) New species have appeared at the same rate over the course of the last 400 million years.
D) The technology used by paleontologists is too primitive to make accurate determinations
about ages of fossils.

Passage 5

What we today call American folk art was, indeed, art of, by, and for ordinary, everyday
"folks" who, with increasing prosperity and leisure, created a market for an of all kinds, and
especially for portraits. Citizens of prosperous, essentially middle-class republics — whether
ancient Romans, seventeenth-century Dutch burghers, or nineteenth-century Americans —
have always shown a marked taste for portraiture. Starting in the late eighteenth century, the
United States contained increasing numbers of such people, and of the artists who could meet
their demands.

The earliest American folk art portraits come, not surprisingly, from New. England —
especially Connecticut and Massachusetts — for this was a wealthy and populous region and
the center of a strong craft tradition. Within a few decades after the signing of the Declaration
of Independence in 1776, the population was pushing westward, and portrait painters could be
found at work in western New York, Ohio, Kentucky, Illinois, and Missouri. Midway through
its first century as a nation, the United States' population had increased roughly five times, and
eleven new states had been added to the original thirteen. During these years the demand for
portraits grew and grew, eventually to be satisfied by the camera. In 1839 the daguerreotype
was introduced to America, ushering in the age of photography, and within a generation the
new invention put an end to the popularity of painted portraits. Once again an original portrait
became a luxury, commissioned by the wealthy and executed by the professional.

But in the heyday of portrait painting — from the late eighteenth century until the 1850's —
anyone with a modicum of artistic ability could become a limner, as such a portraitist was
called. Local craftspeople — sign, coach, and house painters — began to paint portraits as a
profitable sideline; sometimes a talented man or woman who began by sketching family
members gained a local reputation and was besieged with requests for portraits; artists found it
worth their while to pack their paints, canvases, and brushes and to travel the countryside,
often combining house decorating with portrait painting.

1. In paragraph 1, the author mentions seventeenth-century Dutch burghers as an
example of agroup that ..........

A) consisted mainly of self-taught artists

B) appreciated portraits

C) influenced American folk art

D) had little time for the arts
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2. The word marked in paragraph 1 is closest in meaning to ......... .
A) pronounced

B) fortunate

C) understandable

D) mysterious

3. According to the passage, where were many of the first American folk art portraits
painted?

A) In western New York

B) In Illinois and Missouri

C) In Connecticut and Massachusetts

D) In Ohio

4. The word this in paragraph 2 refersto ......... .
A) a strong craft tradition

B) American folk art

C) New England

D) western New York

5. How much did the population of the United States increase in the first fifty years
following independence?

A) It became three times larger.
B) It became five times larger.

C) It became eleven times larger.
D) It became thirteen times larger.

6. The phrase ushering in in paragraph 2 is closest in meaning to ......... .
A) beginning

B) demanding

C) publishing

D) increasing

7. The relationship between the daguerreotype (paragraph 2) and the painted portrait is
similar to the relationship between the automobile and the ..........

A) highway

B) driver

C) horse-drawn carriage
D) engine
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8. According to the passage, which of the following contributed to a decline in the demand
for painted portraits?

A) The lack of a strong craft tradition

B) The westward migration of many painters

C) The growing preference for landscape paintings

D) The invention of the camera

9. The word executed in paragraph 2 is closest in meaning to ......... .
A) sold

B) requested

C) admired

D) created

10. The author implies that most limners ......... .
A) received instruction from traveling teachers

B) were women

C) were from wealthy families

D) had no formal art training

11. The word sketching in paragraph 3 is closest in meaning to ......... .
A) drawing

B) hiring

C) helping

D) discussing

12. The phrase worth their while in paragraph 3 is closest in meaning to ......... .
A) essential

B) educational

C) profitable

D) pleasurable

Passage 6

Smallpox was the first widespread disease ever to be eliminated by human intervention. A
highly contagious viral disease, it was endemic in Europe, causing the deaths of millions of
people until the development of the vaccination by Edward Jenner around 1800. In many non-
European nations, it remained a dreaded, often fatal illness until very recently. Its victims
suffered high fever, vomiting, and painful, itchy pustules, pus-filled skin eruptions that left pits
or pockmark scars. In villages and cities all over the world, scarred people showed that they
had survived smallpox.

In May 1966, the World Health Organization (WHO), an agency of the United Nations, was
authorized to initiate a global campaign to eradicate smallpox. The goal was to eliminate the
disease in one decade. At the time, the disease posed a serious threat to people in thirty nations.
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More than 700 physicians, nurses, scientists, and other personnel from WHO joined about
200,000 health workers in the infected nations to battle the disease Because similar projects for
malaria and yellow fever had failed, few believed that a disease as widespread as smallpox
could actually be eradicated, but eleven years after the initial organization of the anti-smallpox
campaign, no cases were reported in the field.

The strategy that developed was to combat the disease at several levels. There was an
education campaign, of course, so that the people in the threatened countries could be taught
more about how the disease spread and become active participants in the fight against smallpox.
Other strategies included not only providing mass vaccinations but also isolating patients with
active smallpox in order to contain the spread of the disease, thus breaking the chain of human
transmission. Monetary rewards for reporting smallpox assisted in motivating the public to aid
health workers. One by one, each smallpox victim was sought out, removed from contact with
others, and treated. At the same time, the entire village where the victim had lived was
vaccinated.

By April of 1978, WHO officials announced that they had isolated the last known case of
the disease, but health workers continued to search for new cases for two additional years to be
completely sure. In May 1980, a formal statement was made to the global community. Today
smallpox is no longer a threat to humanity. Routine vaccinations have been stopped worldwide.

1. Which of the following is the best title for the passage?
A) The World Health Organization

B) The Eradication of Smallpox

C) Smallpox Vaccinations

D) Infectious Diseases

2. The word threat in paragraph 2 could best be replaced by ..........
A) debate

B) humiliation

C) risk

D) bother

3. According to the passage, what was the strategy used to eliminate the spread of
smallpox?

A) Vaccinations of entire villages

B) Treatment of individual victims

C) Isolation of victims and mass vaccinations

D) Extensive reporting of outbreaks

4. The word They in paragraph 4 refersto ......... .
A) years

B) officials

C) victims

D) cases
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5. The word isolated in paragraph 4 is closest in meaning to ......... .
A) restored

B) separated

C) attended

D) located

6. How was the public motivated to help the health workers?
A) By educating them

B) By rewarding them for reporting cases

C) By isolating them from others

D) By giving them vaccinations

7. Which one of the statements does NOT refer to smallpox?

A) Previous projects had failed.

B) People are no longer vaccinated for it.

C) The World Health Organization mounted a worldwide campaign to eradicate the disease.
D) It was a serious threat.

8. It can be inferred from the passage that .............c.ccoiiiiiiiiiiin s
A) no new cases of smallpox have been reported this year

B) malaria and yellow fever have been reported this year

C) smallpox victims no longer die when they contract the disease

D) smallpox is not transmitted from one person to another

Passage 7

Precipitation, commonly referred to as rainfall, is a measure of the quantity of atmospheric
water in the form of rain, hail, or snow that reaches the ground. The average annual
precipitation over the whole of the United States is thirty-six inches per year. It should be
understood, however, that all precipitation is not measured equally. For example, a foot of snow
does not equal a foot of precipitation. According to the general formula for computing the
precipitation of snowfall, ten inches of snow equals one inch of precipitation. In upper New
York State, for example, where there is typically a large amount of snowfall every winter, a
hundred inches of snow in one year would be recorded as only ten inches of precipitation. On
the other hand, rain is rain. Forty inches of rain would be recorded as forty inches of
precipitation. The total annual precipitation for an area with forty inches of rain and one
hundred inches of snow would be recorded as fifty inches of precipitation.

The amount of precipitation that an area receives is a combined result of several factors,
including location, altitude, proximity to the sea, and the direction of prevailing winds. Most
of the precipitation in the United States is brought originally by prevailing winds from the
Pacific Ocean, the Gulf, of Mexico, the Atlantic Ocean, and the Great Lakes. Because these
prevailing winds generally come from the west, the Pacific Coast receives more annual
precipitation than the Atlantic Coast. Along the Pacific Coast itself, however, altitude causes
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some diversity in rainfall. The mountain ranges of the United States, especially the Rocky
Mountain Range and the Appalachian Mountain Range, influence the amount of precipitation
in the areas to the windward and leeward sides of these ranges. East of the Rocky Mountains,
the annual precipitation is substantially less than that west of the Rocky Mountains. The
precipitation north of the Appalachian Mountains averages 40 percent less than that south of
the Appalachian Mountains. As air currents from the oceans move over land, the air must rise
to pass over the mountains. The air cools, and the water that is held in the clouds falls as rain
or snow on the ascending side of the mountains. The air, therefore, is much drier on the other
side of the mountains.

1. What does this passage mainly discuss?
A) Precipitation

B) Snowfall

C) New York State

D) A general formula

2. Which of the following is another word that is often used in place of precipitation?
A) Humidity

B) Wetness

C) Rainfall

D) Rain-snow

3. The term precipitation includes ......... .
A) only rainfall

B) rain, hail, and snow

C) rain, snow, and humidity

D) rain, hail, and humidity

4. What is the average annual rainfall in inches in the United States?
A) Thirty-six inches

B) Thirty-eight inches

C) Forty inches

D) Forty-two inches

5. If a state has 40 inches of snow in a year, by how much does this increase the annual
precipitation?

A) By two feet

B) By four inches

C) By four feet

D) By 40 inches
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6. The phrase proximity to in paragraph 2 is closest in meaning to ......... .
A) communication with

B) dependence on

C) nearness to

D) similarity to

7. Where is the annual precipitation highest?
A) The Atlantic Coast

B) The Great Lakes

C) The Gulf of Mexico

D) The Pacific Coast

8. Which of the following was NOT mentioned as a factor in determining the amount of
precipitation that an area will receive?

A) Mountains

B) Latitude

C) The sea

D) Wind

9. The word substantially in paragraph 2 could best be replaced by ......... .
A) fundamentally

B) slightly

C) completely

D) apparently

10. The word that in paragraph 2 refersto ......... .
A) decreases

B) precipitation

C) areas

D) mountain ranges

Passage 8

The Acacia, a genus of trees and shrubs of the mimosa family that originated in Australia,
has long been used there in building simple mud and stick structures. The acacia is called a
wattle in Australia, and the structures are said to be made of daub and wattle. The acacia is
actually related to the family of plants known as legumes that includes peas, beans, lentils,
peanuts, and pods with beanlike seeds. Some acacias actually produce edible crops. Other
Acacia varieties are valued for the sticky resin, called gum Arabic or gum acacia, used widely
in medicines, foods, and perfumes, for the dark dense wood prized for making pianos, or for
the bark, rich in tannin, a dark, acidic substance used to cure the hides of animals, transforming
them into leather.
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Nearly five hundred species of Acacia have been analyzed, identified, categorized, and
proven capable of survival in hot and generally arid parts of the world; however, only a dozen
of the three hundred Australian varieties thrive in the southern United States. Most acacia
imports are low spreading trees, but of these, only three flower, including the Bailey Acacia
with fernlike silver leaves and small, fragrant flowers arranged in rounded clusters, the Silver
Waffle, similar to the Bailey Acacia, which grows twice as high, and the squat Sydney Golden
Wattle, bushy with broad, flat leaves, showy bright yellow blossoms, and sharp spined twigs.
Another variety, the Black Acacia, also called the Blackwood, has dark green foliage and
unobtrusive blossoms. Besides being a popular ornamental tree, the Black Acacia is considered
valuable for its dark wood, which is used in making furniture, as well as highly prized musical
instruments.

The Acacia's unusual custom of blossoming in February has been commonly attributed to
its Australian origins, as if the date and not the quality of light made the difference for a tree in
its flowering cycle. In the Southern Hemisphere, the seasons are reversed, and February, which
is wintertime in the United States, is summertime in Australia. Actually, however, the pale,
yellow blossoms appear in August in Australia. Whether growing in the Northern or Southern
Hemisphere, the lovely acacia blossoms in winter.

1. With which of the following topics is the passage primarily concerned?
A) The Black Acacia

B) Characteristics and varieties of the Acacia

C) Australian varieties of the Acacia

D) The use of Acacia wood in ornamental furniture

2. How many species of Acacia grow well in the southern United States?
A) Five hundred

B) Three hundred

C) Twelve

D) Three

3. The word thrive in paragraph 2 is closest in meaning to which of the following?
A) grow well

B) are found

C) were planted

D) can live

4. The word these in paragraph 2 refersto ......... .
A) United States

B) varieties

C) species

D) trees
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5. According to this passage, the Silver Wattle ......... .
A) is squat and bushy

B) has unobtrusive blossoms

C) is taller than the Bailey Acacia

D) is used for making furniture

6. The word showy in paragraph 2 could best be replaced by ......... .
A) strange

B) elaborate

C) huge

D) fragile

7. Which of the following Acacias has the least colorful blossoms?
A) Bailey Acacia

B) Sydney Golden Wattle

C) Silver Wattle

D) Black Acacia

8. Which of the following would most probably be made from a Black Acacia tree?
A) A flower arrangement

B) A table

C) A pie

D) Paper

9. When do Acacia trees bloom in Australia?
A) February

B) Summer

C) August

D) Spring

Passage 9

In 1626, Peter Minuit, governor of the Dutch settlements in North America known as New
Amsterdam, negotiated with Canarsee chiefs for the purchase of Manhattan Island for
merchandise valued at sixty guilders or about $24.12. He purchased the island for the Dutch
West India Company.

The next year, Fort Amsterdam was built by the company at the extreme southern tip of the
island. Because attempts to encourage Dutch immigration were not immediately successful,
offers, generous by the standards of the era, were extended throughout Europe. Consequently,
the settlement became the most heterogeneous of the North American colonies. By 1637, the
fort had expanded into the village of New Amsterdam, other small communities had grown up
around it, including New Haarlem and Stuyvesant's Bouwery, and New Amsterdam began to
prosper, developing characteristics of religious and linguistic tolerance unusual for the times.
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By 1643, it was reported that eighteen different languages could be heard in New Amsterdam
alone.

Among the multilingual settlers was a large group of English colonists from Connecticut
and Massachusetts who supported the English King's claim to all of New Netherlands set out
in a charter that gave the territory to his brother James, Duke of York. In 1644, when the
English sent a formidable fleet of warships into the New Amsterdam harbor, Dutch governor
Peter Stuyvesant surrendered without resistance.

When the English acquired the island, the village of New Amsterdam was renamed New
York in honor of the Duke. By the onset of the Revolution, New York City was already a
bustling commercial center. After the war, it was selected as the first capital of the United
States. Although the government was eventually moved, first to Philadelphia and then to
Washington, D.C., New York maintained its status. It became a haven for pirates who
conspired with leading merchants to exchange supplies for their ships in return for a share in
the plunder. As a colony. New York exchanged many agricultural products for English
manufactured goods. In addition, trade with the West Indies prospered. Three centuries after
his initial trade with the Native Americans, Minuit's tiny investment was worth more than seven
billion dollars.

1. Which of the following would be the best title for this passage?
A) A History of New York City

B) An Account of the Dutch Colonies

C) A Biography of Peter Minuit

D) The First Capital of the United States

2. What did the Native Americans receive in exchange for their island?
A) Sixty Dutch guilders

B) $24.12 U.S.

C) Goods and supplies

D) Land in New Amsterdam

3. Where was New Amsterdam located?
A) In Holland

B) In North America

C) On the island of Manhattan

D) In India
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4. What does the author mean by the statement ""Because attempts to encourage Dutch
immigration were not immediately successful, offers, generous, by the standards of the
era, were extended throughout Europe'?

A) Other Europeans were given opportunities to immigrate to the new world after a slow
response by the Dutch.

B) Since the Dutch immigration was so successful, opportunities were provided for the
Europeans to immigrate to the new world also.

C) The Dutch took advantage of opportunities to immigrate to Europe instead of to the new
world.

D) Immigration to the new world required that the Dutch and other Europeans wait until
opportunities were available.

5. The word heterogeneous in paragraph 2 could best be replaced by ..........
A) liberal

B) renowned

C) diverse

D) prosperous

6. Why were so many languages spoken in New Amsterdam?

A) The Dutch West India Company was owned by England.

B) The Dutch West India Company allowed freedom of speech.

C) The Dutch West India Company recruited settlers from many different Countries in Europe.
D) The Indians who lived there before the Dutch West India Company purchase spoke many
languages.

7. The word formidable in paragraph 3 is closest in meaning to ......... .
A) powerful

B) modem

C) expensive

D) unexpected

8. The word it in paragraph 4 refersto ......... .
A) Revolution

B) New York City

C) the island

D) the first capital

9. Which city was the first capital of the new United States?
A) New Amsterdam

B) New York

C) Philadelphia

D) Washington

Cowd s Colwog yo adyl LwliaylS Hga)l Oledb) g jls| oyl




10. On what date was Manhattan valued at $7 billion?
A) 1626
B) 1726
C) 1656
D) 1926

Passage 10

Perhaps it was his own lack of adequate schooling that inspired Horace Mann to work so
hard to accomplish the important reforms in education that he advocated. While he was still a
boy, his father and older brother died, and he became responsible for supporting his family.
Like most of the children in his town, he attended school only two or three months a year.
Later, with the help of several teachers, he was able to study law and become a member of the
Massachusetts bar, but he never forgot those early struggles.

While sewing in the Massachusetts legislature, he signed an historic education bill that set
up a state board of education. Without regret, he gave up his successful legal practice and
political career to become the first secretary of the board. There he exercised an enormous
influence during the critical period of reconstruction that brought into existence the American
graded elementary school as a substitute for the older district school system. Under his
leadership, the curriculum was restructured, the school year was increased to a minimum of six
months, and mandatory schooling was extended to age sixteen. Other important reforms that
came into existence under Mann's guidance included the establishment of state normal schools
for teacher training, institutes for in service teacher education, and lyceums for adult education.
He was also instrumental in improving salaries for teachers and creating school libraries.

Mann's ideas about school reform were developed and distributed in the twelve annual
reports to the state of Massachusetts that he wrote during his tenure as secretary of education.
Considered quite radical at the time, the Massachusetts reforms later served as a model for the
nation's educational system. Mann was formally recognized as the father of public education.

During his lifetime, Horace Mann worked tirelessly to extend educational opportunities to
agrarian families and the children of poor laborers. In one of his last speeches he summed up
his philosophy of education and life: "Be ashamed to die until you have won some victory for
humanity.” Surely, his own life was an example of that philosophy.

1. Which of the following titles would best express the main topic of the passage?
A) The Father of American Public Education

B) Philosophy of Education

C) The Massachusetts State Board of Education

D) Politics of Educational Institutions
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2. Why does the author mention Horace Mann'’s early life?

A) As an example of the importance of an early education for success
B) To make the biography more complete

C) Because it served as the inspiration for his later work in education
D) In tribute to the teachers who helped him succeed

3. The word struggles in paragraph 1 could best be replaced by ......... .
A) valuable experiences

B) happy situations

C) influential people

D) difficult times

4. The word there refersto ..........
A) the Massachusetts legislature

B) the state board of education

C) Mann'’s legal practice

D) his political career

5. With which of the following statements would the author most probably agree?

A) Horace Mann's influence on American education was very great.

B) A small but important influence on American education was exerted by Horace Mann.
C) Few educators fully understood Horace Mann's influence on American education.

D) The influence on American education by Horace Mann was not accepted or appreciated.

6. Horace Mann advocated all of the following EXCEPT ..........
A) a state board of education

B) a district school system

C) classes for adults

D) graded elementary schools

7. The reforms that Horace Mann achieved ......... :
A) were not very radical for the time

B) were used only by the state of Massachusetts

C) were later adopted by the nation as a model

D) were enforced by the Massachusetts bar

8. With which of the following statements would Horace Mann most probably agree?
A) Think in new ways.

B) Help others.

C) Study as much as possible.

D) Work hard.
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Passage 11

Organic architecture-that is, natural architecture-may vary in concept and form, but it is
always faithful to natural principles. The architect dedicated to the promulgation of organic
architecture rejects outright all rules imposed by individual reference or mere aesthetics in
order to remain true to the nature of the site, the materials, the purpose of the structure, and the
people who will ultimately use it. If these natural principles are upheld, then a bank cannot be
built to look like a Greek temple. Form does not follow function; rather, form and function are
inseparably two aspects of the same phenomenon. In other words, a building should be inspired
by nature's forms and constructed with materials that retain and respect the natural
characteristics of the setting to create harmony between the structure and its natural
environment. It should maximize people's contact with and utilization of the outdoors.
Furthermore, the rule of functionalism is upheld; that is, the principle of excluding everything
that serves no practical purpose.

Natural principles, then, are principles of design, not style, expressed by means and modes
of construction that reflect unity, balance, proportion, rhythm, and scale. Like a sculptor, the
organic architect views the site and materials as an innate form that develops organically from
within. Truth in architecture results in a natural, spontaneous structure in total harmony with
the setting. For the most part, these structures find their geometric shapes in the contours of the
land and their colors in the surrounding palette of nature.

From the outside, an organic structure is so much a part of nature that it is often obscured
by it. In other words, it may not be easy, or maybe not even possible, for the human eye to
separate the artificial structure from the natural terrain. Natural light, air, and view permeate
the whole structure, providing a sense of communication with the outdoors. From the inside,
living spaces open into one another. The number of walls for separate rooms is reduced to a
minimum, allowing the functional spaces to flow together. Moreover, the interiors are sparse.
Organic architecture incorporates built-in architectural features such as benches and storage
areas to take the place of furniture.

1. According to the passage, what is another name for organic architecture?
A) Natural architecture

B) Aesthetic architecture

C) Principle architecture

D) Varied architecture

2. The word ultimately in paragraph 1 could best be replaced by ..........
A) fortunately

B) eventually

C) supposedly

D) obviously
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3. The word upheld in paragraph 1 is closest in meaning to ......... .
A) invalidated

B) disputed

C) promoted

D) perceived

4. The following examples are all representative of natural architecture EXCEPT ...... .
A) a bank that is built to look like a Greek temple

B) a bank built so that the location is important to the structure

C) a bank that is built to conform to the colors of the natural surroundings

D) a bank that is built to be functional rather than beautiful

5. Why does the author compare an organic architect to a sculptor?
A) To emphasize aesthetics

B) To give an example of natural principles

C) To make a point about the development of geometry

D) To demonstrate the importance of style

6. The word obscured in paragraph 3 is closest in meaning to ......... .
A) difficult to see

B) in high demand

C) not very attractive

D) mutually beneficial

7. With which of the following statements would the author most probably agree?
A) Form follows function.

B) Function follows form.

C) Function is not important to form.

D) Form and function are one.

8. Which of the following statements best describes the architect’s view of nature?
A) Nature should be conquered.

B) Nature should not be considered.

C) Nature should be respected.

D) Nature should be improved.

Passage 12

Although its purpose and techniques were often magical, alchemy was, in many ways, the
predecessor of the modern science of chemistry. The fundamental premise of alchemy derived
from the best philosophical dogma and scientific practice of the time, and the majority of
educated persons between 1400 and 1600 believed that alchemy had great merit.

The earliest authentic works on European alchemy are those of the English monk Roger
Bacon and the German philosopher St. Albertus Magnus. In their treatises they maintained that
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gold was the perfect metal and that inferior metals such as lead and mercury were removed by
various degrees of imperfection from gold. They further asserted that these base metals could
be transmuted to gold by blending them with a substance more perfect than gold. This elusive
substance was referred to as the "philosopher’s stone.” The process was called transmutation.

Most of the early alchemists were artisans who were accustomed to keeping trade secrets
and often resorted to cryptic terminology to record the progress of their work. The term sun
was used for gold, moon for silver, and the five known planets for base metals. This convention
of substituting symbolic language attracted some mystical philosophers who compared the
search for the perfect metal with the struggle of humankind for the perfection of the soul. The
philosophers began to use the artisan's terms in the mystical literature that they produced. Thus,
by the fourteenth century, alchemy had developed two distinct groups of practitioners-the
laboratory alchemist and the literary alchemist. Both groups of alchemists continued to work
throughout the history of alchemy, but, of course, it was the literary alchemist who was more
likely to produce a written record; therefore, much of what is known about the science of
alchemy is derived from philosophers rather than from the alchemists who labored in
laboratories.

Despite centuries of experimentation, laboratory alchemists failed to produce gold from
other materials. However, they gained wide knowledge of chemical substances, discovered
chemical properties, and invented many of the tools and techniques that are used by chemists
today. Many laboratory alchemists earnestly devoted themselves to the scientific discovery of
new compounds and reactions and, therefore, must be considered the legitimate forefathers of
modem chemistry. They continued to call themselves alchemists, but they were becoming true
chemists.

1. Which of the following is the main point of the passage?

A) There were both laboratory and literary alchemists.

B) Base metals can be transmuted to gold by blending them with a substance more perfect than
gold.

C) Roger Bacon and St. Albertus Magnus wrote about alchemy.

D) Alchemy was the predecessor of modem chemistry.

2. The word authentic in paragraph 2 could best be replaced by ..........
A) valuable

B) genuine

C) complete

D) comprehensible

3. According to the alchemists, what is the difference between base metals and gold?
A) Perfection

B) Chemical content

C) Temperature

D) Weight
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4. According to the passage, what is the ""philosopher’s stone™?
A) Lead that was mixed with gold

B) An element that was never found

C) Another name for alchemy

D) A base metal

5. The word cryptic in paragraph 3 could be replaced by which of the following?
A) scholarly

B) secret

C) foreign

D) precise

6. In paragraph 3, the author suggests that we know about the history of alchemy because

A) the laboratory alchemists kept secret notes

B) the literary alchemists recorded it in writing

C) the mystical philosophers were not able to hide the secrets of alchemy
D) the historians were able to interpret the secret writings of the alchemists

7. Why did the early alchemists use the terms sun and moon?
A) To keep the work secret

B) To make the work more literary

C) To attract philosophers

D) To produce a written record

8. Who were the first alchemists?
A) Chemists

B) Writers

C) Artisans

D) Linguists

9. With which of the following statements would the author most probably agree?
A) Alchemy must be considered a complete failure.

B) Some very important scientific discoveries were made by alchemists.

C) Most educated people dismissed alchemy during the time that it was practiced.

D) The literary alchemists were more important than the laboratory alchemists

Passage 13

A geyser is the result of underground water under the combined conditions of high
temperatures and increased pressure beneath the surface of the Earth. Since temperature rises
about 1°F for every sixty feet under the Earth's surface, and pressure increases with depth,
water that seeps down in cracks and fissures until it reaches very hot rocks in the Earth's interior
becomes heated to a temperature of approximately 290°F.
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Water under pressure can remain liquid at temperatures above its normal boiling point, but
in a geyser, the weight of the water nearer the surface exerts so much pressure on the deeper
water that the water at the bottom of the geyser reaches much higher temperatures than does
the water at the top of the geyser. As the deep water becomes hotter, and consequently lighter,
it suddenly rises to the surface and shoots out of the surface in the form of steam and hot water.
In turn, the explosion agitates all the water in the geyser reservoir, creating further explosions.
Immediately afterward, the water again flows into the underground reservoir, heating begins,
and the process repeats itself.

In order to function, then, a geyser must have a source of heat, a reservoir where water can
be stored until the temperature rises to an unstable point, an opening through which the hot
water and steam can escape, and underground channels for resupplying water after an eruption.

Favorable conditions for geysers exist in regions of geologically recent volcanic activity,
especially in areas of more than average precipitation. For the most part, geysers are located in
three regions of the world: New Zealand, Iceland, and the Yellowstone National Park area of
the United States. The most famous geyser in the world is Old Faithful in Yellowstone Park.
Old Faithful erupts every hour, rising to a height of 125 to 170 feet and expelling more than
ten thousand gallons during each eruption. Old Faithful earned its name because, unlike most
geysers, it has never failed to erupt on schedule even once in eighty years of observation.

1. Which of the following is the main topic of the passage?
A) The Old Faithful geyser in Yellowstone National Park

B) The nature of geysers

C) The ratio of temperature to pressure in underground water
D) Regions of geologically recent volcanic Activity

2. In order for a geyser to erupt ......... .

A) hot rocks must rise to the surface of the Earth
B) water must flow underground

C) it must be a warm day

D) the earth must not be rugged or broken

3. The word it in paragraph 1 refersto ......... .
A) water

B) depth

C) pressure

D) surface

4. As depth increases . . e
A) pressure increases but temperature does not
B) temperature increases but pressure does not
C) both pressure and temperature increase

D) neither pressure nor temperature increases
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5. Why does the author mention New Zealand and Iceland in paragraph 4?
A) To compare areas of high volcanic activity

B) To describe the Yellowstone National Park

C) To provide examples of areas where geysers are located

D) To name the two regions where all geysers are found

6. How often does OId Faithful erupt?
A) Every 10 minutes

B) Every 60 minutes

C) Every 125 minutes

D) Every 170 minutes

7. The word expelling in paragraph 4 is closest in meaning to ......... .
A) firing

B) discharging

C) supplying

D) wasting

8. What does the author mean by the statement Old faithful earned its name because
unlike most geysers, it has never failed to erupt on schedule even once in eighty years of
observation?

A) Old Faithful always erupts on schedule.

B) Old Faithful is usually predictable.

C) Old Faithful erupts predictably like other geysers.

D) Old Faithful received its name because it has been observed for many years.

9. According to the passage, what is required for a geyser to function?

A) A source of heat, a place for water to collect, an opening, and underground channels
B) An active volcano nearby and a water reservoir

C) Channels in the Earth and heavy rainfall

D) Volcanic activity, underground channels, and steam

Passage 14

This question has often been posed: Why were the Wright brothers able to succeed in an
effort at which so many others had failed? Many explanations have been mentioned, but three
reasons are most often cited. First, they were a team. Both men worked congenially and
cooperatively, read the same books, located and shared information, talked incessantly about
the possibility of manned flight, and sewed as a consistent source of inspiration and
encouragement to each other. Quite simply, two geniuses are better than one.

Both were glider pilots. Unlike some other engineers who experimented with the theories
of flight, Owille and Wilbur Wright experienced the practical aspects of aerodynamics by
building and flying in kites and gliders. Each craft they built was slightly superior to the last,
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as they incorporated knowledge that they had gained from previous failures. They had realized
from their experiments that the most serious challenge in manned flight would be stabilizing
and maneuvering the aircraft once it was airborne. While others concentrated their efforts on
the problem of achieving lift for take-off, the Wright brothers were focusing on developing a
three-axis control for guiding their aircraft. By the time that the brothers started to build an
airplane, they were already among the world's best glider pilots; they knew the problems of
riding the air first hand.

In addition, the Wright brothers had designed more effective wings for the airplane than had
been previously engineered. Using a wind tunnel, they tested more than two hundred different
wing designs, recording the effects of slight variations in shape on the pressure of air on the
wings. The data from these experiments allowed the Wright brothers to construct a superior
wing for their aircraft.

In spite of these advantages, however, the Wright brothers might not have succeeded had
they not been born at precisely the opportune moment in history. Attempts to achieve manned
flight in the early nineteenth century were doomed because the steam engines that powered the
aircrafts were too heavy in proportion to the power that they produced. But by the end of the
nineteenth century, when the brothers were experimenting with engineering options, a
relatively light internal combustion engine had already been invented, and they were able to
bring the ratio of weight to power within acceptable limits for flight.

1. Which of the following is the main topic of the passage?

A) The reasons why the Wright brothers succeeded in manned flight

B) The advantage of the internal combustion engine in the Wright brothers' experiments
C) The Wright brothers' experience as pilots

D) The importance of gliders to the development of airplanes

2. The word cited in paragraph 1 is closest in meaning to which of the following?
A) disregarded

B) mentioned

C) considered

D) proven

3. The word incessantly paragraph 1 could best be replaced by which of the following?
A) confidently

B) intelligently

C) constantly

D) optimistically
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4. What kind of experience did the Wright brothers have that distinguished them from
their competitors?

A) They were geniuses.

B) They were glider pilots.

C) They were engineers.

D) They were inventors.

5. Why does the author suggest that the experiments with the wind tunnel were
important?

A) Because they allowed the Wright brothers to decrease the weight of their airplane to
acceptable limits

B) Because they resulted in a three-axis control for their airplane

C) Because they were important in the refinement of the wings for their airplane

D) Because they used the data to improve the engine for their airplane

6. The word they in paragraph 3 refersto ...........
A) the Wright brothers

B) aircraft

C) engines

D) attempts

7. The word doomed in paragraph 4 is closest in meaning to .......... .
A) destined to fail

B) difficult to achieve

C) taking a risk

D) not well planned

8. In paragraph 4, the author suggests that the steam engines used in earlier aircraft had
failed because ............ccoeieiiinnn .

A) They were too small to power a large plane.

B) They were too light to generate enough power.

C) They did not have internal combustion power.

D) They did not have enough power to lift their own weight.

Passage 15

The Federal Reserve System, as an independent agency of the United States government, is
charged with overseeing the national banking system. Since 1913 the Federal Reserve System,
commonly called the Fed, has served as the central bank for the United States. The system
consists of twelve District Reserve Banks and their branch offices, along with several
committees and councils. All national commercial banks are required by law to be members of
the Fed, and all deposit-taking institutions like credit unions are subject to regulation by the
Fed regarding the amount of deposited funds that must be held in reserve and that by definition,
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therefore, are not available for loans. The most powerful body is the seven-member Board of
Governors in Washington, appointed by the President and confirmed by the Senate.

The System's primary function is to control monetary policy by influencing the cost and
availability of money and credit through the purchase and sale of government securities. If the
Federal Reserve provides too little money, interest rates tend to be high, borrowing is
expensive, business activity slows down, unemployment goes up, and danger of recession is
augmented. If there is too much money, interest rates decline, and borrowing can lead to excess
demand, pushing up prices and fueling inflation.

The Fed has several responsibilities in addition to controlling the money supply. In
collaboration with the U.S. Department of the Treasury, the Fed puts new coins and paper
currency into circulation by issuing them to banks. It also supervises the activities of member
banks abroad, and regulates certain aspects of international finance.

It has been said that the Federal Reserve is actually a fourth branch of the United States
government because it is composed of national policy makers. However, in practice, the
Federal Reserve does not stray from the financial policies established by the executive branch
of the government. Although it is true that the Fed does not depend on Congress for budget
allocations, and therefore is free from the partisan politics that influence most of the other
governmental bodies, it is still responsible for frequent reports to the Congress on the conduct
of monetary policies.

1. Which of the following is the most appropriate title for the passage?
A) Banking

B) The Federal Reserve System

C) The Board of Governors

D) Monetary Policies

2. The word overseeing in paragraph 1 is closest in meaning to ........... .
A) supervising

B) maintaining

C) financing

D) stimulating

3. The word confirmed in paragraph 1 could best be replaced by ............
A) modified

B) considered

C) examined

D) approved
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4. According to the passage, the principal responsibility of the Federal Reserve System is

B) to regulate monetary policies
C) to print government securities
D) to appoint the Board of Governors

5. The word securities in paragraph 2 is intended to mean ........... .
A) debts

B) bonds

C) protection

D) confidence

6. What happens when the Federal Reserve provides too little money?
A) Demand for loans increases.

B) Unemployment slows down.

C) Interest rates go up.

D) Businesses expand.

7. In paragraph 2, the author suggests that inflation is caused by ...................... .
A) high unemployment rates

B) too much money in the economy

C) very high fuel prices

D) a limited supply of goods

8. What does the author mean by the statement *However in practice, the Federal
Reserve does not stray from the financial policies established by the executive branch of
the government™?

A) The Fed is more powerful than the executive branch of the government.

B) The policies of the Fed and those of the executive branch of the government are not the
same.

C) The Fed tends to follow the policies of the executive branch of the government.

D) The Fed reports to the executive branch of the government.

9. All of the following statements could be included in a summary of the passage
EXCEPT:

A) The Federal Reserve is an independent agency of the United States government.

B) The Federal Reserve controls the flow of money and credit by buying and selling
government securities.

C) The Federal Reserve issues new coins and currency to banks.

D) The Federal Reserve receives its yearly budget from Congress.
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Passage 16

Harvard University, today recognized as part of the top echelon of the world's universities,
came from very inauspicious and humble beginnings.

This oldest of American universities was founded in 1636, just sixteen years after the
Pilgrims landed at Plymouth. Included in the Puritan emigrants to the Massachusetts colony
during this period were more than 100 graduates of England's prestigious Oxford and
Cambridge universities, and these university graduates in the New World were determined that
their sons would have the same educational opportunities that they themselves had had.
Because of this support in the colony for an institution of higher learning, the General court of
Massachusetts appropriated 400 pounds for a college in October of 1636 and early the
following year decided on a parcel of land for the school; this land was in area called Newtown,
which was later renamed Cambridge after its English cousin and is the site of the present-day
university.

When a young minister named John Harvard, who came from the neighboring town of
Charlestown, died from tuberculosis in 1638, he willed half of his estate of 1,700 pounds to the
fledgling college. In spite of the fact that only half of the bequest was actually paid, the General
court named the college after the minister in appreciation for what he had done. The amount of
the bequest may not have been large, particularly by today's standards, but it was more than the
General court had found it necessary in order to open the college.

Henry Dunster was appointed the first president of Harvard in 1640, and it should be noted
that in addition to serving as president, he was also the entire faculty, with an entering freshman
class of four students. Although the staff did expand somewhat, for the first century of its
existence the entire teaching staff consisted of the president and three or four tutors.

1. The main idea of this passage isthat ........................... .

A) Harvard is one of the world's most prestigious universities

B) what is today a great university started out small

C) John Harvard was key to the development of a great university

D) Harvard University developed under the auspices of the General Court of Massachusetts

2. The passage indicates that Harvard is ................c.oceeenen
A) one of the oldest universities in the world

B) the oldest university in the world

C) one of the oldest universities in America

D) the oldest university in America

3. It can be inferred from the passage that the Puritans who traveled to the Massachusetts
colony were ............

A) rather well educated

B) rather rich

C) rather supportive of the English government

D) rather undemocratic
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4. The pronoun they in paragraph 2 refersto ........... .
A) Oxford and Cambridge universities

B) university graduates

C) sons

D) educational opportunities

5. The pounds in paragraph 2 are probably ............
A) types of books

B) college students

C) units of money

D) school campuses

6. The English cousin in paragraph 2 referstoa ............
A) city

B) relative

C) person

D) court

7. Which of the following is NOT mentioned about John Harvard?
A) What he died of

B) Where he came from

C) Where he was buried

D) How much he bequeathed to Harvard

8. The word fledgling in paragraph 3 could best be replaced by which of the following?
A) Newborn

B) Flying

C) Winged

D) Established

9. The passage implies that ............

A) Henry Dunster was an ineffective president

B) someone else really served as president of Harvard before Henry dunster

C) Henry Dunster spent much of his time as president managing the Harvard faculty

D) the position of president of Harvard was not merely an administrative position in the early
years

10. The word somewhat in paragraph 4 could best be replaced by ............
A) back and forth

B) to and fro

C) side by side

D) more or less
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Passage 17

The word laser was coined as an acronym for Light Amplification by the Stimulated
Emission of Radiation. Ordinary light, from the Sun or a light bulb, is emitted spontaneously,
when atoms or molecules get rid of excess energy by themselves, without any outside
intervention. Stimulated emission is different because it occurs when an atom or molecule
holding onto excess energy has been stimulated to emit it as light.

Albert Einstein was the first to suggest the existence of stimulated emission in a paper
published in 1917. However, for many years physicists thought that atoms and molecules
always were much more likely to emit light spontaneously and that stimulated emission thus
always would be much weaker. It was not until after the Second World War that physicists
began trying to make stimulated emission dominate. They sought ways by which one atom or
molecule could stimulate many others to emit light, amplifying it to much higher powers.

The first to succeed was Charles H. Townes, then at Columbia University in New York.
Instead of working with light, however, he worked with microwaves, which have a much longer
wavelength, and built a device he called a “maser,” for Microwave Amplification by the
Stimulated Emission of Radiation. Although he thought of the key idea in 1951, the first maser
was not completed until a couple of years later. Before long, many other physicists were
building masers and trying to discover how to produce stimulated emission at even shorter
wavelengths.

The key concepts emerged about 1957. Townes and Arthur Schawlow, then at Bell
Telephone Laboratories, wrote a long paper outlining the conditions needed to amplify
stimulated emission of visible light waves. At about the same time, similar ideas crystallized
in the mind of Gordon Gould, then a 37-year-old graduate student at Columbia, who wrote
them down in a series of notebooks. Townes and Schawlow published their ideas in a scientific
journal, physical Review Letters, but Gould filed a patent application. Three decades later,
people still argue about who deserves the credit for the concept of the laser.

1. The word coined in paragraph 1 could best be replaced by ............
A) created

B) mentioned

C) understood

D) discovered

2. The word intervention in paragraph 1 can best be replaced by ........... .
A) need

B) device

C) influence

D) source
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3. Which of the following statements best describes a laser?
A) A device for stimulating atoms and molecules to emit light
B) An atom in a high-energy state

C) A technique for destroying atoms or molecules

D) An instrument for measuring light waves

4. Why was Towne's early work with stimulated emission done with microwaves?
A) He was not concerned with light amplification.

B) It was easier to work with longer wavelengths.

C) His partner Schawlow had already begun work on the laser.

D) The laser had already been developed.

5. In his research at Columbia University, Charles Townes worked with all of the
following EXCEPT ............

A) stimulated emission

B) microwaves

C) light amplification

D) a maser

6. In approximately what year was the first maser built?
A) 1917
B) 1951
C) 1953
D) 1957

7. The word emerged in paragraph 4 is closest in meaning to ............
A) increased

B) concluded

C) succeeded

D) appeared

8. The word outlining in paragraph 4 is closest in meaning to ............
A) assigning

B) studying

C) checking

D) summarizing

9. Why do people still argue about who deserves the credit for the concept of the laser?
A) The researchers' notebooks were lost.

B) Several people were developing the idea at the same time.

C) No one claimed credit for the development until recently.

D) The work is still incomplete.
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Passage 18

Crows are probably the most frequently met and easily identifiable members of the native
fauna of the United States. The great number of tales, legends, and myths about these birds
indicates that people have been exceptionally interested in them for a long time. On the other
hand, when it comes to substantive — particularly behavioral — information, crows are less
well known than many comparably common species and, for that matter, not a few quite
uncommon ones: the endangered California condor, to cite one obvious example. There are
practical reasons for this.

Crows are notoriously poor and aggravating subjects for field research. Keen observers
and quick learners, they are astute about the intentions of other creatures, including researchers,
and adept at avoiding them. Because they are so numerous, active, and monochromatic, it is
difficult to distinguish one crow from another. Bands, radio transmitters, or other identifying
devices can be attached to them, but this of course requires catching live crows, who are among
the wariest and most untrappable of birds.

Technical difficulties aside, crow research is daunting because the ways of these birds are
so complex and various. As preeminent generalists, members of this species ingeniously
exploit a great range of habitats and resources, and they can quickly adjust to changes in their
circumstances. Being so educable, individual birds have markedly different interests and
inclinations, strategies and scams. For example, one pet crow learned how to let a dog out of
its kennel by pulling the pin on the door. When the dog escaped, the bird went into the kennel
and ate its food.

1. What is the main topic of the passage?

A) The ways in which crows differ from other common birds
B) The myths and legends about crows

C) The characteristics that make crows difficult to study

D) The existing methods for investigating crow behavior

2. According to the first paragraph, what evidence is there that crows have interested
people for a long time?

A) The large number of stories about crows

B) The frequency with which crows are sighted

C) The amount of research that has been conducted on crows

D) The ease with which crows are identified

3. The word comparably in paragraph 1 is closest in meaning to ............
A) interestingly

B) similarly

C) otherwise

D) sometimes
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4. In paragraph 1, the author mentions the endangered California condor as an example
of a species that is ........... .

A) smaller than the crow

B) easily identifiable

C) featured in legends

D) very rare

5. The word them in paragraph 2 refersto ............
A) crows

B) subjects

C) intentions

D) researchers

6. According to the second paragraph crows are poor subjects for field research for all of
the following reasons EXCEPT:

A) They can successfully avoid observers.

B) They are hard to distinguish from one another.

C) They can be quite aggressive.

D) They are difficult to catch.

7. In the second paragraph, the author implies that using radio transmitters would allow
a researcher who studies crows to ........... :

A) identify individual crows

B) follow flocks of crows over long distances

C) record the times when crows are most active

D) help crows that become sick or injured

8. According to the third paragraph, which of the following is true about crows?
A) They seldom live in anyone place for very long.

B) They thrive in a wide variety of environments.

C) They have marked preferences for certain kinds of foods.

D) They use up the resources in one area before moving to another.

9. In paragraph 3, the word inclinations is closest in meaning to ........... .
A) tricks

B) opportunities

C) preferences

D) experiences
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10. In the two last lines, the author mentions a pet crow to illustrate which of the
following?

A) The clever ways that crows solve problems

B) The differences between pet crows and wild crows

C) The ease with which crows can be tamed

D) The affection that crows show to other creatures

11. Which of the following statements is supported by the passage?
A) Crows have relatively long lives.

B) Crows have keen vision.

C) Crows are usually solitary.

D) Crows are very intelligent.

Passage 19

In the early days of the United States, postal charges were paid by the recipient, and charges
varied with the distance carried. In 1825, the United States Congress permitted local
postmasters to give letters to mail carriers for home deli very, but these carriers received no
government salary and their entire compensation depended on what they were paid by the
recipients of individual letters.

In 1847 the United States Post Office Department adopted the idea of a postage stamp,
which of course simplified the payment for postal service but caused grumbling by those who
did not like to prepay. Besides, the stamp covered only delivery to the post office and did not
include carrying it to a private address. In Philadelphia, for example, with a population of
150,000, people still had to go to the post office to get their mail. The confusion and congestion
of individual citizens looking for their letters was itself enough to discourage use of the mail.
It is no wonder that, during the years of these cumbersome arrangements, private letter-
carrying and express businesses developed. Although their activities were only semi legal, they
thrived, and actually advertised that between Boston and Philadelphia they were a half-day
speedier than the government mail. The government postal service lost volume to private
competition and was not able to handle efficiently even the business it had.

Finally, in 1863, Congress provided that the mail carriers who delivered the mail from the
post offices to private addresses should receive a government salary, and that there should be
no extra charge for that delivery. But this delivery service was at first confined to cities, and
free home deli very became a mark of urbanism. As late as 1887, a town had to have 10,000
people to be eligible for free home delivery. In 1890, of the 75 million people in the United
States, fewer than 20 million had mail delivered free to their doors. The rest, nearly three-
quarters of the population, still received no mail unless they went to their post office.
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1. What does the passage mainly discuss?

A) The increased use of private mail Services

B) The development of a government postal system
C) A comparison of urban and rural postal services
D) The history of postage stamps

2. The word varied in paragraph 1 could best be replaced by ............
A) increased

B) differed

C) returned

D) started

3. Which of the following was seen as a disadvantage of the postage stamp?
A) It had to be purchased by the sender in advance.

B) It increased the cost of mail delivery.

C) It was difficult to affix to letters.

D) It was easy to counterfeit.

4. Why does the author mention the city of Philadelphia in paragraph 2?
A) It was the site of the first post office in the United States.

B) Its postal service was inadequate for its population.

C) It was the largest city in the United States in 1847.

D) It was commemorated by the first United States postage stamp.

5. The word cumbersome in paragraph 2 is closest in meaning to ............
A) burdensome

B) handsome

C) loathsome

D) quarrelsome

6. The word they in paragraph 2 refersto ............
A) Boston and Philadelphia

B) businesses

C) arrangements

D) letters

7. The private postal services of the nineteenth century claimed that they could do which
of the following better than the government?

A) Deliver a higher volume of mail.

B) Deliver mail more cheaply.

C) Deliver mail faster.

D) Deliver mail to rural areas.
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8. In 1863 the United States government began providing which of the following to mail
carriers?

A) A salary

B) Housing

C) Transportation

D) Free postage stamps

9. The word confined in paragraph 3 is closest in meaning to ............
A) granted

B) scheduled

C) limited

D) recommended

Passage 20

Archaeology has long been an accepted tool for studying prehistoric cultures. Relatively
recently the same techniques have been systematically applied to studies of the more immediate
past. This has been called “historical archaeology,” a term that is used in the United States to
refer to any archaeological investigation into North American sites that postdate the arrival of
Europeans.

Back inthe 1930's and 1940's, when building restoration was popular, historical archaeology
was primarily a tool of architectural reconstruction. The role of archaeologist was to find the
foundations of historic buildings and then take a back seat to architects.

The mania for reconstruction had largely subsided by the 1950" sand 1960's. Most people
entering historical archaeology during this period came out of university anthropology
departments, where they had studied prehistoric cultures. They were, by training, social
scientists, not historians, and their work tended to reflect this bias. The questions they framed
and the techniques they used were designed to help them understand, as scientists, how people
behaved. But because they were treading on historical ground for which there was often
extensive written documentation, and because their own knowledge of these periods was
usually limited, their contributions to American history remained circumscribed. Their
reports, highly technical and sometimes poorly written, went unread.

More recently, professional archaeologists have taken over. These researchers have sought
to demonstrate that their work can be a valuable tool not only of science but also of history,
providing fresh insights into the daily lives of ordinary people whose existences might not
otherwise be so well documented. This newer emphasis on archaeology as social history has
shown great promise, and indeed work done in this area has led to a reinterpretation of the
United States past.

In Kingston, New York, for example, evidence has been uncovered that indicates that
English goods were being smuggled into that city at a time when the Dutch supposedly
controlled trading in the area. And in Sacramento an excavation at the site of a fashionable
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nineteenth-century hotel revealed that garbage had been stashed in the building's basement
despite sanitation laws to the contrary.

1. What does the passage mainly discuss?

A) Why historical archaeology was first developed

B) How the methods and purpose of historical archaeology have changed
C) The contributions architects make to historical archaeology

D) The attitude of professional archaeologists toward historical archaeology

2. According to the first paragraph, what is a relatively new focus in archaeology?
A) Investigating the recent past

B) Studying prehistoric cultures

C) Excavating ancient sites in what is now the United States

D) Comparing findings made in North America and in Europe

3. According to the passage, when had historical archaeologists been trained as
anthropologists?

A) Prior to the 1930's

B) During the 1930's and 1940's

C) During the 1950 sand 1960's

D) After the 1960's

4. The word framed in paragraph 3 is closest in meaning to ........... .
A) understood

B) read

C) avoided

D) posed

5. In the third paragraph, the author implies that the techniques of history and the
techniques of social science are ................c.cceee.. .

A) quite different from each other

B) equally useful in studying prehistoric cultures

C) usually taught to students of archaeology

D) both based on similar principles

6. The phrase their contributions in paragraph 3 refers to the contributions of ............
A) social scientists

B) prehistoric cultures

C) historians

D) documentation and knowledge
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7. The author mentions an excavation at the site of a hotel in Sacramento in order to give
anexampleof ............

A) a building reconstruction project

B) the work of the earliest historical archaeologists

C) a finding that conflicts with written records

D) the kind of information that historians routinely examine

8. The word supposedly in paragraph 4 is closest in meaning to ............
A) ruthlessly

B) tightly

C) barely

D) seemingly
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